RVEZR S S5 83 HF Rk iE 41

RV SERIES WORM GEAR SPEED REDUCER

PCE IS RIE

PC SERIES GEAR REDUCER

YS=HER S B

YS SERIES THREE PHASE ASYNCHRONOUS MOTOR




INTRODUCTION
ARy

NER—FERAR. &t £ HENRSTHREIRARRSEZNE~ . ATRETPETIENL
S, BB, R —RBRHETRETNmEAREE, RERES, RS, BER, ek, N
MR, RMPSRe. NIZNATIUNEA. SRy, MR, BatErEFaE, LURRR. 8%, R B
F. By, BE. AL, D3, BREFEERIMIRE.

ATEEBORSTIEMNER, 28TF2021F88 23RS RESTELKENMBIEP O —ETH—IFRR.
HIRE— It REZFLRNR THTIHIIESITIF, RENEFRTAE —ExBIRENARES %, ATRTEAEER
AR REANEEIRSE, BIMARISETIRFEH10FLL L, ABRBMIZLK, Tk ‘S, aIf. elF. = "
WEREE, “WEEE. TEXEE" NRS=RE. METHEEN IZHT.

EERNR TG, SHEMETRE, MENRERER, TBNERRS, I TEEEEH.

AAMFE—aiRE, EREARFZLIEEX!

we are a manufacturer of transmission application solutions integrating research and development, design,
production, sales and service. The company focuses on the field of industrial automation in China, the pursuit of precision
technology, research and development of a new generation of worm gear reducer and hyperboloid gear reducer, with high
accuracy, high reliability, low noise, long life, strong rigidity, maintenance free and other characteristics. Widely used in
industrial robots, intelligent logistics, new energy, automatic production and other fields, as well as food, packaging, textile,
electronics, medical, ceramics, woodworking, printing and dyeing, plastic and other special machinery and equipment.

In order to serve Asian customers more conveniently, the company will relocate part of its headquarters to Dongguan,
one of the world's automation manufacturing centers, in 2021. And send a group of employees with many years of
experience to conduct training and guidance work, fast in Dongguan has a set of perfect standard assembly line. The
company has a skilled R & D team and after-sales service team, team members are in the industry for more than 10 years,
the company since its establishment, adhering to the "professional, reliable, innovative, excellent" product concept,
"integrity management, perfect after-sales" service purpose. It has won wide praise from consumers.

High quality staff, advanced and efficient production equipment, strict quality assurance system, perfect after-sales
service, widely trusted by consumers.

Itis the persistent pursuit of Dongjiang people to do a good job of every reducer!

HAMBEEAUEIME
R T @R

We believe beauty is more than appearances
MORE FROM QUALITY

ADVANCED PRODUCTION EQUIPMENT
IS TO ENSURE THE PRODUCT QUALITY OF

THE MATERIAL BASIS
FHMEF SRR RERT mEERYREY

N
E| RN
4 A

.

HREREERMFKFREFKENEIURIERS, HEHEENTITRAHE FRRATTS,
TRk T BAEF RENTIRBRIEHIEF & .



Am CONTENTS

AN [ Introduction

=3 =4 Contents

RVERF4R 4B+ R

RV SERIES WORM GEAR SPEED REDUCER

FmBER Product Picture

FREEE

7= R it

BB GE

NMRV-NRVE!S1588 / RV Model Notes
&= Mounting Dimensions
hEd

NMRV-NMRVEIE15iEH

ShEIRS

Bt ¢

f& FRRBR

B Malfunctions Analysis

P CE&5iA%C R
PC SERIAL GEAR REDUCER

peg ks d=] Structural Feature
Bl&E Installation Of The Motor
HSIFRC Signs And Mark| Exaple
SMERYTE Appearance Size
ZEHR Installation

PC+NMRVEESEURLENHSH Combined Of PC+NMRV Reducer

YSEFI=tAR LB
YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

o RE Structure Diagram
BSIRIE Signs And Markl Exaple
HEESH Performance Parameter
TR Mounting Position

SFEIRS Dimensions

FC & tmFCiRt TRtz
FC SERIES WORM GEAR SPEED REDUCER

SWLRIIERFELLATHPEAN
SWL SERIES WORM GEAR SCREW JACK

DKMZF#}iA - X E S5 miE
DKM SERIES HELICAL-HYPOID GEAR UNITS

RV &5 tm4e ia T imisEl

RV SERIES WORM GEAR SPEED REDUCER

Fl':ﬁ':l H' Product picture

NMRV NMRV..FGix= NMRV..VS

NRV NRV..VS NMRV..AS

NMRV+NMRYV NMRV..A PC+NMRYV




RVZE 58340 88+ ik i= 4 RV SERIES WORM GEAR SPEED REDUCER

F: ll:l_'ll:l.‘lf.tm Products Structure View

BNE= % A

Input flange ; ; J Worm shaft

Z-
Bore seal

o
Oil seal
LTS

Bearings

¥ h

Nameplate

mﬁ - 1 X ®
o

Qil seal

F"-E:'.ﬂﬁii Product summary

PRIAH R
o XAMRIEESSEHEE, IMERLEN, SMR%, tR), BEEE, TERESE, FRHMH.
® Huinftaelr, R, WES.
® FEEBLNS, EahFR, e, BRER.
o SEMNBAREEHHINSHKELS, BESHRERE,; SEMRITRERNLRETRENSMEEAN, BETE.
o fupNEfER AT ASH, BHEE, FEARRRETRREER, TREHR, ETHIPERR.

TR IZHFRLRAN
o HBERBITRENASTR, REREBITRENN—IRR, MKSKHEzLL.
® EAWRASHIEM: 25/30, 25/40. 30/40. 30/50. 30/63. 40/75. 40/90. 50/110. 63/130. 63/150, AFEBRHER
B, AIiRIBSERREE#IE25, 30, 40, 50, 63, 75, 90. 110, 130. 150{FHAAERTHEITHE.

Single Step Worm Gear Reducer

® Made of Aluminum alloy die-casting box, good looking in appearance, compactin structure rust proofing on Surface and small
volume to save mounting space.

@ Good radiating characteristic leads safe and high efficiency for using.

® The strong capacity of loading and overload ensure stable transmission, make less vibration and noise.

@ Varies of connecting structure for power input and torque output meet different requirements; the design of box outline and the
set of foot hole is apt to with many kinds of mounting.

® Besides big cases, no gap structure of box means a maintenance—free that is hermetically sealed. It prevents the lubricant
from easily losing and going bad, and exchanging.

Double Step Worm Gear Reducer
@ Itis combined by two single step reducers and has all the virtues of them. And you can get bigger ratio with it.
® The models of 25/30, 25/40. 30/40. 30/50. 30/63. 40/75. 40/90. 50/110. 63/130. 63/150, are in common use.
You can choose 25, 30, 40, 50, 63. 75, 90. 110, 130. 150 as combination units to combine according to the fact
of your special needs.

RVE 5 8540 8 T Rk = A RV SERIES WORM GEAR SPEED REDUCER

iﬁﬂf:ﬁf Service factor

HEFEENMRVIRH ERY, WIEAPHEETRUTILS
® A &Y
© f Al 4% i 8 Bl 8K Lk (5 R B & 7T IR 15 B R i 1Y 35 35
o THE#HERRFE GEE. RE. BnE)
® ZRET[G

B £ T R85 3 MK 1R TAEHR R & F R HK2
® iRiER1, REHMATEA B, C.
© iR E L BT ) () E/R) FOUS 3R CR BN MBI R 48 TR IR R EK
o iR#ER2, W LIEMREERMK2.

Please read before use:
® Load condition
@ Speed of rotation or speed ratio { combination with combine speed reducer can get extra low outputting rotational speed )
® Work circumstance ( temperature,humidity,corrosion etc. )
® Space of installation

Ensure coefficient of work condition K1 and coefficient of revise K2
@ According to the table 1,choose machinery loading type A,B,C
@ According to the working time(h/d) and frequency (times/h ) get the coefficient of work condition K1 from table 1
@ According to the table 2, pick up coefficient of revise K2

TEEREERBKAEE (F2)

Table 2 working condition coefficlent K2

AR EEE (R

Table 1 machinery load classification selection

fERER =il ok oE R TAEtH R 8 IE 5 #k2
Using Situation Example Load Type A =~ Working Condition
mbient Temperature Coefficient K2
ALk ki & 15 W (1 2 i iE) A5 )
Uniform Load Convay Band (uniform Cenveying) A(unitorm Load)
—10°C ~ 1
e —— R (E R B(h % i o 71 ) e
Moderate Load Speed Changed Conveying B(moderate Load)
3 F i S 4 EEH. MENE C(3} i) ~40° 1.1~1.2
Severe Load Compressor. Pulverizer, etc. céﬁﬁ?&ﬁn W0
T et R K 1% = (B 1) Diagram 1 working condition coefficient K1
16h/H (day) | 8h/H (day) | 2h/H (day)
2.0 — 1.8 — 1.6 C(38 & £ )
1.9 — 1.7 4 15 -1  C(Severe Load)
| —1
1.8 — 1.6 — 1.4 o}
17 bl 13 AT B % 1 o 44 7)
’ ’ ’ e |_—+— B(moderate Load)
1.6 — 1.4 — 1.2 TeF—]
1.5 - 1:3 — 1.1 -—— = A S BT
1.4 — 1.2 — 1.0 — A(unitorm Load)
AH—T|
1.3 — 1.1 — 0.9 — il
1.2 — 10/ = 0.8 1=
I iEERREK 510 20 30 40 50 60 70 80 90 100
Working condition coefficient K1 J& B3 FE (2 /h) Start frequency (time/hour)




RVZE 5 x40 18 7 Rk 1

RV SERIES WORM GEAR SPEED REDUCER

%% E 8L R A

O PAEMELENMANMATTEE ., UTRUTEFRAYK, BRUTERREEREK2, NRGBENESOEE
HHEME, B AIR, JFEEE LA RE, R RAEN R
OHFRALIREBMMMAIIE, BEBLERHHEEME, (T HeHEE, EEREN.

i B i
BBREES AT

2.

#45:19N.m, BRI () 8B/ K,
&% £455r/min, BEISRE: 100/ B,
WIEHL: 1/25, HIEBE . ZER25C, B EB

ORBRIREAFTIE
AEWE XA EESAE, EA;
@RIEE,EAZ EESAEI10R/D RS, KR EER B R/X MR EKI=1;
@iRER2, EFFABK2=1;
(@)% 46 8 H19x K1 xK2=19x1 x 1=19 N.m, 7] % 2 8 1231519 N.med it 314 .
EELR: NMRV30-1/25
HiAThEO0.18kW, HilH 55 iE5648/4r, M #4521 Nom

WET(hZEmE R

#45: 65N.m, SRR E: 16/hR/K,

#2921 r/min, BEEE: 100/ W6,

WEHL: 1/60, HRIER B = M35C, 4 B Bk

ORI R, R E R b
it sy, iEB;
@MTEE, EBL LBMEI100R// A E R, RHEEFEI6NE/ X REKT =1.65;
@iRiER2, EBREK2=1.15;
@M EE5E{E 465x K1 x K2=70 x 1.65 x 1.15=123 N.m, A& ZIEIT123N. ma0 @ EH .
HEELR: NMRV63-1/60
WA THER0.55kW, HHiE23. 358/5, MHIEEE140N.m

How to select

® At first, to ensure the value of input machinery load T(torque), multiple K1 and K2 by T, then you can get the value of output
torque, on the basis of which, also consider speed of output rotation or speed ratio then you can choose specification.

@ You can calculate the output torque based on the known input power, reasonable ratio or speed of output rotation, then you
can choose specification.

Example for model selection
Ex1. General conveyor belt (uniform load)

Torque: 19N.m Tuming time: 8hs/day

Speed of rotation: about 55r/min  start frequency: 10times/h

Ratio:1/25 Temperature:25°C (indoor) Connect with motor direct
@According to the table 1,ensure type of load

Type of load: load—bearing uniform without impact, choose A;

@According to diagram 1, choose the point 10times/h on the intersection A, we can get the K1=1 of tuming time 8hs/d;
@According to the table 2,get the K2=1;

@The value of torque is 19 x K1 x K2=19 x 1 x 1=19N.m,choose the closest 19N.m reducer.
Choose selection: NMRV30-1/25

Input power = 0.18kw, the speed of output rotation is= 56r/min,

the value of output torque is 21N.m

Ex2.conveying belt(moderate load)

Torque:65N.m Turning time:16hs/d
Speed of rotation:about 21r/min Start frequency:100times/h
Ratio:1/60 Temperature:35°C (indoor) Connect with motor direct

DAccording to the table 1,ensure type of load

Type of load: light load-bearing, choose B;

@According to diagram 1, choose the point 100times/h on the intersection B,then you can get the K1=1.65 of tumning
time16hs/d;

@According to the table 2,get the K2=1.15;

@The value of torque is 65 x K1 x K2=70 % 1.65 x 1.15=123N.m, choose the closest 123N.m reducer..

Choose selection: NMRV63-1/60

Input power = 0.55kw, the speed of output rotation =23.3r/min,the value of output torque is 140N.m

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

NMRV/NRV

ﬂ%iﬂﬂﬂ Model notes

NMRV-063-30-VS-F1 (FA)-AS-80B5-0.55kW-B3
NMRV ﬁﬁﬁ%ﬂr speed reducer

NRV ﬁﬁﬁ%ﬁﬁfﬁ?ﬁ?&cer (Mounting input shaft)

063 | Corierdsiance

30 gﬁtﬁztion ratio

vs | B | FICA) | Summmes

AS ;nﬁgﬁ%ﬁput shaft AB gﬂﬁf cﬂtput shaft
PAM ﬁgle%{‘%r motor coupling 80B5 Eﬂﬂ%o%u*gﬁfﬁﬁfyﬁ

0.55kW Eigtﬁfmotor power B3 ﬁiﬁﬁg position




RVZE 5 x40 18 7 Rk 1

El Wﬂ‘ﬁ%ﬂiﬂg Comparative table of model

RV SERIES WORM GEAR SPEED REDUCER

Zdk [ NMRV025 | NMRVO030 | NMRV040 | NMRV050 | NMRV063 | NMRVO075 | NMRV090 | NMRV110 | NMRV130 | NMRV150
entgrlrl)l;'ise NRVO30 | NRV040 | NRV050 | NRV063 | NRVO75 | NRV090 | NRV110 | NRV130 | NRV150
NMRV025 | NMRV030 | NMRV040 | NMRVO050 | NMRV063 | NMRV075 | NMRV090 | NMRV110 [ NMRV130 | NMRV150
NRVO30 | NRV040 | NRVO50 | NRV063 | NRVO75 | NRV090 | NRV110 | NRV130 | NRV150
WJ25 WJ30 WJ40 WJ50 WJ63 WJ75 WJ90 WJ110 | WJ130 WJ150
;ﬁi{i FCNDK25 | FCNDK30 | FCNDK40 | FCNDK50 | FCNDKB3 | FCNDK75 | FCNDK90 | FCNDK110| FCNDK130{ FCNDK150
FCNK30 | FCNK40 | FCNK50 | FCNKB3 | FCNK75 | FCNK90 | FCNK110 | FCNK130 | FCNK150
JRSTD025 | JRSTDO30 | JRSTDO40 | JRSTDOS0 | JRSTDO63 | JRSTDO75 | JRSTDO90 | JRSTD110 [JRSTD130 | JRSTD150
JRST030 | JRST040 | JRSTO50 | JRST063 | JRSTO75 | JRST090 | JRST110 | JRST130 | JRST150
E?&ﬁﬁﬁ!iﬁ Single Step Mounting Positions
B3 B8 V5 ﬁ
A Y

e

gf‘\

N

-10 -

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

i iMECE Position of output shaft
AS1 AS2 AB
0J
2l i 0 g
o o o o
(] (] O (]

TR\

Double extension worm shaft

HHBEE

Position of torque arm

VS

A2

CoBc ]P0

A}

F1

F2

_11_



RVERSR IS RE RV SERIES WORM GEAR SPEED REDUCER RVZES R4 i AT RE T ———

£ %% R~ Mounting dimensions
BRI RFFRLEN EBISE Parameter selections

Single step wormgearreducer T _ L4\ iE= Motor input flange
BRRENGE=EA, MAEE1400r/min)/(E41%EBH)
o
E Single step reducer (flange input, input speed is 1400r/min)/(matched with 4 poles motor)
< 1
MBRS |HHeiE wHeEE| otk | wHM (ERRE HERS |WHsE|WHiEE| itk | it [EHRY
i Model Ne M i &mh | fs. Model N2 Mz i Z2Eh | fs.
@min) | (Nm) kN @min) | (N.m) kN
0.06kw 0.12kw
__ NMRV25[ 1867 | 2.6 7.5 0.50 4.2 NMRV40 [ 28 25 50 2.47 1.5
> BE: J BilE= MotorFIange ifi A ¥ 7L E EUA The Hole Diameter of Shaft 140 3.4 10 0.55 3.5 Sain 28 60 263 1.3
Center Distanc PAM f%ﬁ] tt i Transmission Ratio 93 3 4 9 15 D 63 2 5 17 5 34 80 2 39 .1 0
A IEC N|M|P | E | F —5T55T70 15 [20 [ 25 30 | 40 | 50 [ 60 | 80 | 100 % 1 50 T o — o el !
NMRV025 56814 50 | 65 | 80 | 3 |104] 9 | 9 | 9 | 9 | 9 | -] 9| 9 | 9 | 9 | - | - . . : g 3
SAEE B BT 46.7 8.2 30 0.79 16 NMRV50 | 23.3 29 60 3.61 23
e AP T 2|l M| |11 ||| -]-]- 35 10 40 0.87 1.3 17.5 35 80 3.97 1.9
NMRV030 56B5 80 [ 100 [ 120 28 12 50 0.94 0.9 14 40 100 4.28 1.4
56B14 50 65 80 3 104] 9 9 9 9 9 9 9 9 9 9 9 = 23.3 14 60 1.00 0.7 0.18kw
71B5 110 | 130 | 160 NMRV30| 1867 | 2.6 7.5 0.68 6.9 NMRV30 [ 186.7 7.8 75 0.68 23
71814 | 70 | 85 |105] ° [163| 14 | M4 |14 |14 |14 14114 141 = | = | = | - 140 3.4 10 0.75 5.4 140 10 10 0.75 18
NMRV040 63B5 95 | 115 | 140 93.3 47 15 0.86 3.8 93.3 14 15 0.86 1.3
63814 T T T e | W W e R VR N M 70 6 20 0.94 3.0 70 18 20 0.94 1.0
56B5 80 |[100[120] 3 |104] = | = | = | = | = | = | = =19 9] 98 56 7 25 1.02 3.0 56 21 25 1.02 1.0
80B5 130 | 165 | 200 46.7 8 30 1.08 2.5 46.7 24 30 1.08 0.8
6 (218 19|19 |19 |19 |19 |19|[19]| - | - | - | -] -
80B14 80 | 100 [ 120 35 9.7 40 1.19 1.9 NMRV40 | 70 19 20 1.82 2.0
NMRV0SO | 7185 (110 93011801 5 |16.3| 14 | 14 |14 |14 |14 | 14 | 14 | 14 | 14 | 14 |14 | - 28 1 50 | 128 | 15 56 23 25 | 196 | 1.7
T R K7L R R ) e [ BE L MK T 23.3 13 60 1.36 1.3 46.7 26 30 2.08 1.7
T R T T o I I T ) 17.5 14 80 1.50 0.9 35 32 40 2.29 1.3
SOB1d o5 [A15 140 8 |273| 24 |24 |24 |24 |24 | 24| 24| = | = | = | - | = 0.09kw 28 38 50 2.47 1.0
B0B5 130 165 [ 200 NMRV25[ 1867 | 3.9 75 0.50 2.8 TE 43 60 2.63 0.8
NMRV063 80B14 80 | 100 (120 & (218|119 (19|19 |19 |10 | 18] 19 |19 |19 | 19 | = | - 140 5.1 10 0.55 2.4 NMRV50 | 35 32 40 3.15 2.3
71B5 110 | 130 | 160 93.3 T8 16 0.83 1.6 28 39 50 3.39 1.9
71B14 70 | 85 | 105 5 (163 - B - - B B = | [ a4 4] e |14 70 9.2 20 0.69 1.3 23.3 43 60 3.61 1.6
100/11285 [ 180 | 215 [250 | o | _ | 58 | 28 1 28 | = | = | = | = | = | = | - | - 46.7 12 30 0.79 1.1 17.5 52 80 3.97 1.2
100/112B14 | 110 | 130 | 160 : 35 15 40 0.87 0.9 14 60 100 4.28 0.9
90B5 130 | 165 | 200 NMRV30 | 186.7 | 3.9 7.5 0.68 46 0.25kw
NMRv075 | _90B14 | 95 [ 115 [140| ° |%73 ad Bl bl |l i 140 | 5 10 | 075 | 36 NMRV40 | 1867 | 11 75 | 131 | 36
80BS 130 [ 165 | 200 93.3 7.1 15 0.86 2.5 140 14 10 1.44 2.8
6 |218| = | - | - | - |19 |19 |19 |19 |19 | 19 | 19 | 19
80B14 80 | 100 [ 120 70 9 20 0.94 2.0 93.3 21 15 1.65 1.9
71B5 ool - 0 M (T VT O O T T T8 [ R L AL 56 10 25 1.02 2.0 70 27 20 1.82 15
100/11285 1180 | 215 1 260 » |aja| — | o8| o8| 28|28 | 28| 28| = | = | = | = | = 267 | 12 30 1.08 1.7 56 32 25 1.96 1.2
100/112B14 | 110 | 130 | 160
ATEE N ETTT 35 14 40 1.19 1.2 46.7 36 30 2.08 1.3
NMRV090 o o5 115 Taa0| 8 [273| - |24 | 24 |24 | 24 | 24| 24 | 24 | 24 | 24| - | = 28 17 50 1.28 1.0 35 44 40 2.29 0.9
3085 130 1765 T 200 23.3 19 60 1.36 0.9 28 37 50 2.47 0.8
6 (208 =i | o= | o= [= | ] [ |G| 00 M9, | A8 48 NMRV40 | 28 19 50 2.47 2.0 NMRV50 | 70 26 20 2.50 2.7
80B14 80 | 100 | 120 . . . .
132B5 | 230 | 265 | 300 | 10 |41.1 23.3 21 60 2.63 1.7 56 32 25 2.69 a5
132814 | 130 165200 - | - | _ [ 3@ |38 |38 |8 |~ |~ |~ |~ |~ |~ |~ 175 | 26 80 2.89 13 46.7 a7 30 2.86 2.3
NMRV410 | 100/112B5 | 180 | 215|250 | 8 |31.3| - | 28 | 28 | 28 | 28 | 28 | 28 | 26 | 26 | 28 | = | - 14 29 100 3.11 1.0 35 46 40 3.15 1.7
90B5 130]166[200] 8 [273] _ [ _ [ _ [ - | - [ 2alcalza|2alcaloal 24 0.12kw 28 54 50 3.39 1.4
90B14 95 115|140 | - | - NMRV30 | 186.7 | 5.2 75 0.68 3.4 23.3 60 60 3.61 1.1
80B5 130 ]166j200| - | = | = | = | = | = [ = | =] =] -] -1]=119 19 140 6.7 10 0.75 B 17.5 72 80 3.97 0.9
132B5 | 230 [ 2651300 | 10 [411] _ | 40 | 30 | 38 | 38 | 38| 38 |38 | - | = | = | - 93.3 | 95 15 0.86 1.9 NMRV63 | 28 56 50 4.44 2.4
132B14 | 130 11651200 - | = 70 12 20 0.94 15 23.3 63 60 4.71 2.0
NMRV130 [ 100/112B5 | 180 | 215|250 | 8 |313]| - | - | - | - | - | 28 | 28 | 28 | 28 | 28 | 28 | 28 g = B T T —— = = = e
99005154 19350 1?2 fgg —— = | = | === =-|-|-]-|-]|24] 24 46.7 16 30 1.08 12 14 87 100 | 5.59 1.4
160B5 | 250 | 300 | 350 | 12 [453| - | 42 | 42 | 42 | 42 [ 42| = | = | = | = | = | - o i R I ) O B 0.37kw
132B5 230 | 265 | 300 | 10 |41.3 28 23 50 1.28 0.8 NMRV40 186.7 16 Tii o 1.31 2.4
NMRV150 2l - | -|~-|-|38|38|38|3|38|~-|-]-
132B14 130 | 165 | 200 | - = NMRV40 | 46.7 17.2 30 2.08 2.6 140 21 10 1.44 1.9
100/112B5 | 180 [ 215|250 | 8 |31.3] = | = | = | = | = | = | - | - | 28 | 28 | 28 | 28 35 21 40 2.29 1.9 93.3 31 15 1.65 1.3

—{5 = =5 =



RVZE 5 x40 18 7 Rk 1

RV SERIES WORM GEAR SPEED REDUCER

PRFENGE=BN, BAEE1400r/min)/(E24t%EBH)

Single step reducer (flange input, input speed is 1400r/min)/(matched with 4 poles motor)

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

BRAENGE=HAN, BAEZE1400r/min)/(B4t%EBHL)

Single step reducer (flange input, input speed is 1400r/min)/(matched with 4 poles motor)

HARS |MH%E|MbEE| 3k | GdE ERARE HMERS |WhiE mhdE Stk | el ERARK
Model Nz Mz i Z[mA f.s. Model N2 M2 i REh f.s.
(rmin) (N.m) kN (r/min) (N.m) kN
0.37kw 0.75kw
NMRV40 70 39 20 1.82 1.0 NMRV90 175 258 80 6.78 1.1
56 47 25 1.96 0.8 14 302 100 7.30 0.9
46.7 53 30 2.08 0.8 1.1kw
NMRV50 140 21 10 1.98 3.3 NMRV63 | 186.7 49 7.5 2.35 2.6
938 =5l 15 22T 2.4 140 65 10 2.59 2.0
70 40 20 2.5 1.8 93.3 93 15 2.97 1.5
56 48 25 2.69 125 70 122 20 327 1.1
46.7 =5 30 2.86 15 56 146 25 3.52 0.9
35 68 40 a5 1.1 46.7 167 30 3.74 1.0
28 80 50 3.39 0.9 35 165 40 3.59 0.9
203 89 60 3.61 0.8 NMRVT75 93.3 95 15 3.50 2.1
NMRVG63 35 70 40 4.12 2:1 70 123 20 3.86 1.7
28 83 50 4.44 1.6 56 150 25 4.16 1.3
23.3 94 60 4.71 1.4 46.7 171 30 4.42 153
17.5 115 80 5.19 1:A1 35 216 40 4.86 1.0
14 129 100 5.59 0.9 28 264 50 4.60 0.9
0.55kw 233 223 60 4.89 0.8
NMRV50 186.7 25 75 1.8 2.9 NMRVS0 35 225 40 5.38 1.6
140 32 10 1.98 2.2 28 270 50 5.79 1.3
93.3 46 15 2.27 1.6 23.3 31 60 6.16 1.0
70 59 20 2.5 12 17.5 328 80 6.17 0.9
56 71 25 2.69 1.0 NMRV110 28 281 50 .32 2.3
46.7 81 30 2.86 40 233 324 60 Tl 1.9
35 80 40 315 0.9 dii5 402 80 8.57 nEs
NMRV63 70 60 20 3.27 2.2 14 473 100 9.23 1.0
56 73 25 3.52 1.8 1.5kw
46.7 83 30 3.74 1.9 NMRV63 | 186.7 67 7.5 2.35 1.9
35 105 40 4,12 1.4 140 89 10 2.59 1.5
28 124 50 4.44 1.1 93.3 127 15 2.97 11
23.3 140 60 4.71 0.9 70 166 20 327 0.8
NMRV75 35 108 40 4.86 2.0 NMRV75 140 90 10 3.06 2.2
28 129 50 5.24 1.6 93.3 130 15 3.50 1.5
23.3 146 60 5.56 1.4 70 168 20 3.86 n3
175 180 80 613 1.1 56 205 25 4.16 1.0
14 206 100 6.60 0.9 46.7 233 30 4.42 1.0
NMRV90 17.5 189 80 6.78 1.5 NMRVS0 70 171 20 4.27 21
14 221 100 7.30 1.2 56 210 25 4.60 1.6
0.75kw 46.7 239 30 4.89 17
NMRV50 186.7 34 i) 1.80 2.1 35 307 40 5.38 1.2
140 44 10 1.98 1.6 28 368 50 5.79 0.9
93.3 63 15 2.27 12 23.3 424 60 6.16 0.8
70 81 20 2.50 0.9 NMRV110 35 319 40 6.80 2.2
NMRV63 93.3 63 15 2.97 2.2 28 384 50 .32 1.7
70 83 20 3.27 1.6 23.3 442 60 7.78 1.4
56 100 25 3.52 1.3 a7.5 548 80 8.57 0.9
46.7 114 30 3.74 1.4 2.2kw
35 143 40 4.12 1.0 NMRV75 | 186.7 100 7.5 2.78 1.8
NMRV75 56 102 25 4.16 2.0 140 132 10 3.06 1.5
46.7 117 30 4.42 2.0 93.3 191 15 3.50 1.0
35 147 40 4.86 155 70 240 20 3.38 0.9
28 177 50 5.24 1.2 46.7 269 30 3.89 0.8
23.3 200 60 5.56 1.0 NMRV90 | 186.7 101 7.5 3.08 2.9
NMRV90 28 184 50 5.79 1.8 140 134 10 3.39 23
23.3 212 60 6.16 1.5 93.3 194 15 3.88 1.9

-14 -

HERKES |HHEE SHEE| otk | GEE (ERRYE MERS |MhsE HHEEl St | ks [ERAEK
Model N2 Mz i ZE@mh f.s. Model N2 M2 i ZEmA f.s.
(W/min) (N.m) kN (r/min) (N.m) kN
2.2kw 4kw
NMRV90 70 252 20 4.27 1.4 NMRV110| 56 573 25 5.81 1.2
56 308 25 4.60 1.1 46.7 647 30 6.18 1.1
46.7 351 30 4.89 1.2 NMRV130| 56 573 25 7.60 1.6
a5 433 40 4.90 1.0 46.7 655 30 8.08 1.6
28 393 50 5.28 0.9 35 851 40 8.89 1.2
NMRV110| 70 255 20 5.39 2.5 28 1023 50 9.58 1.0
56 315 25 5.81 2.2 Zad 1179 60 10.18 0.8
46.7 356 30 6.18 2.0 NMRV150 28 1036 50 13.10 1.4
35 468 40 6.8 1.5 23.3 1195 60 13.92 1.1
28 563 50 7.32 1.2 17.5 1484 80 15.32 0.8
23.3 648 60 7.78 1.0 5.5kw
NMRV130 35 468 40 8.89 2.2 NMRV110| 186.7 253 7.5 3.89 it
28 563 50 9.58 I 140 334 10 4.28 1.8
233 648 60 10.18 1.4 93.3 484 15 4.90 1.4
17.5 818 80 11.21 1.0 70 638 20 5.39 0.9
14 869 100 10.62 0.8 56 711 25 515 1.0
NMRV150 28 570 50 13.10 2.5 NMRV130 140 333 10 5.60 2.5
23.3 657 60 13.92 1.9 93.3 490 15 6.41 1.9
17.5 816 80 15.32 1.4 70 645 20 7.06 1.4
14 960 100 16.50 1.0 56 788 25 7.60 1.2
3kw 46.7 900 30 8.08 1.2
NMRV75 | 186.7 136 7.5 2.78 1.4 35 1171 40 8.89 0.9
140 180 10 3.06 1.1 28 1103 50 8.51 0.8
93.3 261 15 3.50 0.8 NMRV150| 70 645 20 9.65 2.0
NMRV90 | 186.7 138 7.5 3.08 2:1 56 788 25 10.40 1.5
140 182 10 3.39 1.7 46.7 934 30 11.05 1.3
93.3 264 15 3.88 1.4 35 1171 40 12.16 1.3
70 344 20 4.27 1.0 28 1426 50 13.10 1.0
56 420 25 4.60 0.8 23.3 1643 60 13.92 0.8
46.7 479 30 4.89 0.9 7.5kw
NMRV110| 93.3 264 15 4.90 2.5 NMRV110| 186.7 345 7.5 3.89 1.6
70 348 20 5.39 1.9 140 455 10 4.28 1.3
56 430 25 5.81 1.6 93.3 660 15 4.90 1.0
46.7 485 30 6.18 1.5 NMRV130| 186.7 349 75 5.09 241
35 638 40 6.80 ilsdl 140 455 10 5.6 1.8
28 767 50 7.32 0.9 93.3 668 15 6.41 1.4
NMRV130 56 429 25 7.60 2.2 70 880 20 7.06 1.0
46.7 491 30 8.08 2.1 56 1074 25 7.6 0.9
35 638 40 8.89 1.6 46.7 1228 30 8.08 0.8
28 767 50 9.58 1.3 35 1596 40 8.89 0.7
23.3 884 60 10.18 1.0 NMRV150| 70 880 20 9.65 1.5
15 1113 80 11:21 0.8 56 1074 25 10.4 1.1
NMRV150 28 7IT7 50 13.10 1.8 46.7 1274 30 11.05 0.9
233 896 60 13.92 1.4 35 1596 40 12.16 1.0
17.5 1113 80 15.32 1.0 11kw
14 1310 100 16.50 0.8 NMRV150| 186.7 512 7.5 6.96 2.3
4kw 140 675 10 7.66 1.8
NMRV75 | 186.7 182 7.5 2.44 1.4 93.3 990 15 8.77 1.3
NMRV90 | 186.7 184 7.5 3.08 1.6 70 1291 20 9.65 1.0
140 243 10 3.39 1.3 56 1576 25 10.4 0.8
93.3 352 15 3.88 1.0 15kw
70 458 20 4.27 0.8 NMRV150| 186.7 698 7.5 6.96 1.7
NMRV110| 140 242 10 4.28 2.5 140 921 10 7.66 1.3
93.3 352 15 4.90 1.9 93.3 1351 15 8.77 0.9
70 464 20 5.39 1.4 70 1760 20 9.65 0.7

_15_



RVZE 5 x40 18 7 Rk 1

RV SERIES WORM GEAR SPEED REDUCER

BERENREREA, BWAKE1400r/min)

Single step reducer (shaft extend input, input speed is 1400r/min)

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

Hﬁ%ﬁm%ﬁ!ﬁ?‘ Dimensions

NMRV

50
45
° w%’/—_\\
"4 : ’-: t:’ >
] / il =N ¢ //\\o},
: . € a9 I --:l<>j-
10° 5
! LERNNCEN
Vi
v N/
|\ In;;jl'}t bore o 8 | | | &
®55 f BAFL «© .{'.J
) 065/ ’ ® 22 |
34
%2
Qutput shaft 10
M H 20 37 _
255 255 |
23 | 23 3 s
8 = % - & =
- = o i
e o ® - (o% N I
50 255 | o
4 . 23 | =
1 et
o (D) — :

MBS | S S RAGIEE a0 | | MEAES | NS (e mRseE) 15 30 Lt | % |63
Model W= N2 Me i RN | BEA Model HE Ne Mo i RED|2EH
w | (dmin) | (Nm) kN | "kN w | (@min) | (Nm) kN[ TkN
NRV30 0.4 186.7 18 Tiekd) 0.68 0.15 NRV75 1:1 35 220 40 4.86 0.98
0.3 140 18 10 0.75 0.16 0.9 28 210 50 5.24 0.98
0.2 93.3 18 15 0.86 0.16 0.8 23.3 200 60 5.56 0.98
0.2 70 18 20 0.94 0.19 0.6 175 190 80 6.13 0.98
0.2 56 21 20 1.02 0.21 0.5 14 180 100 6.60 0.98
0.2 46.7 20 30 1.08 0.21 NRV90 6.3 186.7 290 TR 3.08 0.90
0.1 35 18 40 1.19 0.21 | 140 310 10 3.39 1.08
0.1 28 17 50 1.28 0.21 4.1 93.3 360 15 3.88 1225
0.1 23.3 16 60 1.36 0.21 2.4 56 340 25 4.60 1.27
(01 idif 5 13 80 1.50 0.21 2.6 46.7 410 30 4.89 1.27
NRV40 0.9 186.7 40 7.0 1.31 0.29 1.8 35 360 40 5.38 1.27
0.7 140 40 10 1.44 0.33 1.4 28 340 50 5.79 127
0.5 93.3 40 15 1.65 0.33 1.1 23.3 320 60 6.16 12T
0.4 70 39 20 1.82 0.35 0.8 1D 285 80 6.78 1.27
0.3 56 38 25 1.96 0.35 0.7 14 270 100 7.30 1.27
0.3 46.7 45 30 2.08 0.35 NRV110 12 186.7 552 7.0 3.89 1.20
0.2 35 41 40 2.29 0.35 9.8 140 598 10 4.28 1.46
0.2 28 39 50 2.47 0.35 7.5 93.3 656 15 4.90 1.60
0.2 23.3 36 60 2.63 0.35 5.6 70 644 20 5.39 1.70
0.1 17.5 33 80 2.89 0.35 4.7 56 679 25 5.81 1.70
0.1 14 29 100 3.1 0.35 4.5 46.7 725 30 6.18 1.70
NRV50 1.6 186.7 71 Tiets) 1.80 0.4 3.3 35 702 40 6.80 1.70
1.2 140 T2 10 1.98 0.49 2.6 28 660 50 7.32 1.70
0.9 93.3 74 15 2.27 0.49 24 23.3 616 60 7.78 1.70
0.7 70 73 20 2.50 0.49 1.4 17.5 515 80 8.57 1.70
05 56 70 25 2.69 0.49 1.1 14 483 100 9.23 1.70
0.6 46.7 84 30 2.86 0.49 NRV130| 16.1 186.7 750 7.5 5.09 1.50
0.4 ab 76 40 3.15 0.49 135 140 820 10 5.60 1.84
0.3 28 73 50 3.39 0.49 10.3 93.3 920 15 6.41 2.07
0.3 233 68 60 3.61 0.49 7.5 70 910 20 7.06 2.10
0.2 A75 65 80 3.97 0.49 6.5 56 930 25 7.60 2.10
0.2 14 55 100 4.28 0.49 6.4 46.7 1040 30 8.08 2.10
NRVG3 2.8 186.7 128 7.5 2.35 0.5 4.9 35 1050 40 8.89 2.10
2.2 140 130 10 2.59 0.57 3.8 28 980 50 9.58 2.10
1.6 93.3 140 15 2.97 0.61 3.1 20.3 900 60 10.18 | 2.10
1.2 70 135 20 3.27 0.66 2.3 175 840 80 111 .21 210
1.0 56 130 25 3.52 0.70 1aTz 14 740 100 12.07 | 2.10
1.1 46.7 160 30 3.74 0.70 NRV150| 25.8 186.7 | 1200 75 6.96 1.95
0.8 35 145 40 4.12 0.70 20.2 140 1240 10 7.66 2.26
0.6 28 135 50 4.44 0.70 13.9 93.3 1250 15 8.77 2.28
0.5 23.3 130 60 4.71 0.70 111 70 1300 20 9.65 2.67
0.4 1.5 122 80 5.19 0.70 8.4 56 1200 25 10.40 | 2.80
0.3 14 18 100 5.59 0.70 74 46.7 1200 30 11.05 2.80
NRV75 4.1 186.7 185 Tt 2.78 0.70 7.3 35 1550 40 12.16 | 2.80
3.2 140 195 10 3.06 0.83 5.4 28 1400 50 13.10 | 2.80
2.3 933 200 15 3.50 0.85 4.2 23.3 1260 60 13.92 | 2.80
1.9 70 210 20 3.86 0.98 3.1 17.5 1150 80 15.32 | 2.80
s 56 200 25 4.16 0.98 2.3 14 1000 100 16.50 | 2.80
1.5 46.7 230 30 4.42 0.98

16 16
45
OQutput bore 6
i S T
D) d -
I 1 an i
4
e SN F
! : I
! o i g
& ] e
unill
EE Weight: 0.7kg
BB : AL Ayt A ffl;X = Motor Flange
Center Distance | (o “rie| KM itn MRIELATIE | EZER | B i\ 5 7L B 2 UA
A PAM IEC N M P E Input Shaft Hole Diameter
25 E%= 56B14 50 65 80 3 9

-16 -

_17_



RVER 5 &5 5e ta+ imiE

RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

NMRV

030

RVE S tm5e 88 iR E 1

RV SERIES WORM GEAR SPEED REDUCER

40 _, 55 s
- ] 20 45
; 54
9 |:| |i| 3 TT1 1T H
i = o = B\
B\ Z|=|a ! EE‘
4-M6 x 11 ‘ &“ %
o] UA
Input bore
WAL
65
©75 Qutput bore
63 HWiETL
21 21 5
-2 e @14H8
©
63
63
58 Sz 59
\
VRPN SENE
fR7NE) | a
53 S\l RN RN
ol \[Il@ c o a sy .
o § - %
3 EQ = || o g o ! =
w
= 32 © 32
<]
“ =
56
il BB s m B #1732 = Motor Flange
Center Distance Fl| an_ge Type %A_—‘.ﬂﬁ .I]'.I:l m#ﬁ'—ﬂ.ﬂﬁ mﬁ ﬁﬂ WAW?LE&UA
PAM IEC N M P E Input Shaft Hole Diameter
63B5 95 115 140
— 63B14 60 75 90
50 EE= 56B5 80 100 120 s 4 S
56B14 50 65 80
il BB : e M # 7% = Motor Flange
A PAM IEC N M P E Input Shaft Hole Diameter
57 X57 38.1 66.7 57
60xX60 50 70 60
S 80X80 73 94 80
30 FEE 90X90 83 104 (UBYIR 24 7L) 90 S L2
104x104 94 118(UBIIR £ 7| ) 104
wmLFTEZS 90X 90 w218 104 90 4 12(3EiR)

NRV

030

51 20 20 45 51 20
[T T 3 B ) {11
m— N'% ________ —r
(=3
- [{e] =]
[{e] b —
o [=>] [+]
a e e
Output shaft 4 H &
128 102
M6 x 16 | 32.5 32.5_|M6x 16 63 325_|M6x16
30 30 5 30
Z@f— @ | =i
[ ] ©
® G e 2
= = b
© =) 21 21 =}

Output flange #iH %=

-18 -

4

[ ?I/NE T
O“\%l@ %
' :

IS .l

EE Weight: 1.3kg

_19_



RVZ 5145 56 453 H RUER RV SERIES WORM GEAR SPEED REDUCER RVZRFILZIE IR RLE RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

s
s0 70 _ 60 23 23 53 60 23
L Y 23 53
i L A4 \ 7 —m—ﬁ- a Emn m——mmm
4-M6Ex 8 -E-I I e ' i H e H 2% = :
B El ] e f \?\ o] T o /ﬁf 3 o
(i SRIZXN W7\ i Sl WA 3
In;l)Jat bore %ﬁ - H \s\&y / - H l\&%uf O
WAFL H E N j E .\““"/ . ﬂ
2, L0
o N3
(A
Ou;ﬁpuﬂjt ;fre Output shaft i H#i
78 164 _ 128
- - Mex 16 [ 2B Ve x 16 8 B Mex 16
—H - 2 40 40 X 6 40 X
= &1
2 2 0| 2
78 78 s ‘ u = = @
e ) o
//—-\ - N
0 \ ) 0 Output flange 4itHiE<
o T8l g \ Kﬂ o F8l g Kﬁ B .
ol ® = @
N = N =3 67
ol 8 e ol 8 s
n = n n 7
4 R55 4
] 43 g 4 27 TNS
- C L i 5 »
] =] L
2 3 g
TN - M L% = Motor Flange | | = e e
Center Distance | ¢\ "Tune EZ AR fl4n} YRR | EEER B 3 FLE 2 UA W | F— 2
A PAM IEC N M P E Input Shaft Hole Diameter
71B5 110 130 160
71B14 70 85 105
40 BEEx 63B5 95 115 140 3,4, 5 9, 11, 14 86 — -
63B14 60 75 90 @140 56 9 5
56B5 80 100 120 5
iy BB : ot F Sk Bl % = Motor Flange EKU\U,E
Center Distance o EZAA 1 n} FHRIBHTIIE | EZhK i i\ 3 FLE 2 UA 5
A Elangs Type PAM IEC N M P E Input Shaft Hole Diameter \ é&/’b 2
60X60 50 70 60 d % Q g
80X 80 70, 73 94 80 A ¢ - | | e
FEZ 86 %86 73 95(URIIE £ 7) 86 3,4, 5 9, 11, 14 ©115 — 9 fl-
40 90X90 83 | 104(UBBZTL) | 90 oss C] i
104X 104 94 118(UBRIIE £ 71) 104 —
B 90X 90 18 104 90 = - -
mbHEZ 104% 104 Bil:20 120 104 4,5 12(3E#R), 15 R Weight: 2.4kg

_21_

—20) =



=D

RVZR SRR RE RV SERIES WORM GEAR SPEED REDUCER RVZRFILZIE IR RLE RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

60 80 s 74 30 30 64 74 30
121 M M6 x 16 5 M6 x 16 M6 x 16
80 : £ 30 64 ﬁﬁ T jl—ﬁ 1 HH | ‘
~ / ’ i 5 M6x16 == — N p— © -
e g : g $ =2\ 2
o ey B ! S S
2 UA © “q;:\ A &y ;
Input bore = yd ) N K i
Y BAFL &J E ]
Output bore Output shaft % #h
HidifL 199 , 153
92 53.5 53.5 92 53.5
2 5 30 8 Mi0x24 | 50 50 _|M10x24 8 50 | M10x24
Q@%mzwa —J @
«© ] s SRR | oRTA | 2] i ASTEAHB e el T | Ko
™~ T (3] [}
7 e © ©
4 & 9
92 92 =] e 30 30 o
87 87
//_\ p
. Bt \ ==
. 2 3 A &A | 3 3 2 " Output flange #jHi%E2
-
3 : 3 2
2 g & g g e 90
> . > 9 110x 110
5
g 49 i 49 [ 5
z 70 ="
B5 85 o/ 1\ol\
N
thls BR: S22 B #l;% = Motor Flange | I% 2
CenterDistance | (12 ="Sr | % 2 f4g = WHRRLAE | EiEE | @M WA FLEEUA AN 3
A PAM IEC N M B E Input Shaft Hole Diameter = j
80B5 130 165 200 . i
80B14 80 100 120
50 Bz 71B5 110 130 160 4, 5. 6 11, 14, 19 72
71B14 70 85 105 89
63B5 95 115 140 10 \‘45 .
160 66 5
ity §B - - B HL3E = Motor Flange //; i ;_
Center Distance | ¢\ " “rone | K2 #4% k0 MRBLIIE | bk | B8 5 \ 3 7L E 2 UA — o \H
A PAM IEC N M P E Input Shaft Hole Diameter =
60x60 50 70 60 ©
8080 70 94 80 I 2
86x86 73 95(URIBZ 71 86 = o
BEE 90x90 83 104(URVIR# 71) 90 4. 5.6 11, 14, 19 e =1 |
£ 104x104 94 118(UEIIE 2 71) 104 ik
110x110 85. 95 130(VEIRZ A1) 110
130%130 100, 110 [ 145(UB/#EZ7F) | 130
R 90X 90 w18 104 90 .
LLEYCE = e yiorry) B020 120 — 4.5 14, 15 =& Weight: 3.6kg

_23_



RVER 5 &5 5e ta+ imiE

RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

NMRV

UA
Input bore
HIAFL

35 35

112

40 % .
M6 x 16 TT1 : 1T
6 ©
&
n °
™ A
Output bore
Tk ek N

106 1 106 |

/" il

/
¢ (= (=) ¢ |I9Ff\\’°{|¢

8 8| OO 3 8., o\./o
[{s] o
= 2 = ; /3
o B o B
al ||l al ||l
103 103
Bl B : s M #l3ZE = Motor Flange
Center Distance | o) o "rope| E=HAE il n| AR TR FE=HE B BARFLEZUA
A PAM IEC N M P E Input Shaft Hole Diameter
90B5 130 165 200
90B14 95 115 140
o 80B5 130 165 200
63 EZE= 80B14 30 100 120 5.6, 8 14, 19. 24
71B5 110 130 160
71B14 70 85 105
thals BR: s 22 F sk B #l3% = Motor Flange
Center Distance | o o "rope| EZ=#A il n| poy=:Livedke] ESihK g ] WA FLE EUA

PAM IEC N M P E Input Shaft Hole Diameter

80x80 70 94 80
5 86x86 73 95(UBVIR £ 7l) 86
130x130 100, 110 145(UBVIR 2 FL) 130

-24 -

RVE S tm5e 88 iR E 1

RV SERIES WORM GEAR SPEED REDUCER

NRV

063

90 40 40 75 90 40
M6 x 16 5 M6 x 16 M6 x 16
; TR S [
&N
©, © ‘ ©
I 7z
it e
] G- I ol
Output shaft & H &
219 173
53.5 53.5 112 _
M10 x 24 |_ 50 50 _| Mi0 x 24 8 50 | MIOx 24
- w@ _______ — — X
< o < : o
o™ o 3
e ) 35 35 e
Qutput flange #ith k=
& 98
142x 142 82 0. -
10
R90 6 °|f°f\\?|°
' 7T i R
2N W .
= |_o11 o - e
o | P -
80.5
112 107 160 16.5
10 : 10 . \ 5
Tl ) | TR & [ ol el
N ST AN
2 P z
2 8 " =
i o 9)' - ] 1=
3| B g o | el Il © - o | fo
| | """"-._ | | 7"""-—-.. || |

EHE Weight: 6.3kg

_25_



RVER 5 &5 5e ta+ imiE

RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

RVE S tm5e 88 iR E 1

RV SERIES WORM GEAR SPEED REDUCER

NMRV

NRV

075

86 __ 1125
174 s
120 = E 50 90 N
E 10T lll/ n M8X20 1T T
8-MB x 14 il e Z = o ﬁ‘ 71=r: E
¥ Input bore 5 | /a/ e
o™
a0
[aY] L -
H \a\/}r -
. pi o
Qutput bore — —
120 i FL
40 8
7 ” ©28H8
b2
120 120
114 114
/-_\ 4
17| \ %
" 7 1N " 7 1N
o Tl gle b\\zﬁ / ol T 2|e b\\,/-ﬁ
& 2 &
& 8
e =t
8| 8 8 3
0 72 0 72
s 90 - 90
112 112
iy BE: e B 172 = Motor Flange
Center Distance F’l an_ge Type ‘;fémﬁ .IJ:D m#ﬁ'—ﬂnﬂﬁ %.i_‘!ﬁ Em mAH?LE&UA
A PAM IEC N M P E Input Shaft Hole Diameter
100/11285 180 215 250
100/112B14 110 130 160
90B5 130 165 200
75 EE= 90B14 95 115 140 6. 8 14, 19, 24, 28
80B5 130 165 200
80B14 80 100 120
71B5 110 130 160
i 6 2 Es ML #l 3% = Motor Flange
CenterlADiStance F|an_ge Type ﬁém*& .Itl:l mﬁm %éijl'& ﬂ{' ﬁiAﬁﬂﬁépA
PAM IEC N M P E Input Shaft Hole Diameter
80X80 70 94 80
5 110X110 85, 95 130(UBIEZE £ 7) 110
& BEZ [TH30%130 | 100, 110 | 145(UMBEFL) | 130 Sy oy Eny P ize
150150 130 165(URIME 24 7| 150

105 50 50 90 105 50
: , M8 x 20 a M8 x 20 : , M8 x 20
Y
(] g 3 2
o™ (9]
,;(./ fi h - ° i
AN
Q\\-.v‘
Qutput shaft i H ¥
247 192
63.5 63.5 63.5
M10 x 24 |60 60 _| M1ox24 60 | M10x24
M10x24 Miox24
= 2 © ©
Output flange HiH %2
111 90
13 13
170x 170 6 6
R100 — okf’f\\f’do + Ok{’f\\ﬁ% |
ﬁ/ @&://é A E@K\_-//@j @
<] @
(=] e
o) o= 0 oy

EE Weight: 9kg

- 26 -

_27_



RVZE 5 x40 18 7 Rk 1

RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

NMRV

103 __ 1205
208 2 50 108
= 140 _ 8 MBx20 }
T X e . .
8-M10x 16 H “':'“"‘ 5T 2 = 3 " _//’{A»\“\- J
8 . A W\
%j ﬁ§ W
&) UA &
o Input bore ! -‘\b\ s g/J_
%7 HATL
]
. !
%2 | s
Qutput bore
15 B L
45 45
10
& m@ ®35H8
< %
| ™
140 140
134 134
l—
off | el GE e
B ] —k\\ " 8 o A_
g 5 & £
Pl & g e
s =) S o B
| =
) 74 ) 74
100 100
130 130
i BB - . B #l;E= Motor Flange
Center Distance |:'|a,.,_g,a Type| EZHAE kR FAIRLTIEE | EZEE gEiE WAMILERUA
PAM IEC N M P E Input Shaft Hole Diameter
100/112B5 180 215 250
100/112B14 110 130 160
o | mmx [ 085 Tt 200 | o5 |9 42
80B5 130 165 200
80B14 80 100 120
i 6 2 ER HL#l 3% = Motor Flange
CenterDiStance F|an_ge Type %ém*& .Itl:l mﬁm %ﬁﬁ'& ﬂ{' ﬁiAﬁﬂﬁiéUA
A PAM IEC N M P E Input Shaft Hole Diameter
80X80 70 94 80
5 110x110 85, 95 130(UBYIE £ 71) 110
90 CRE 130X130 100, 110 145(URY IR 22 71) 130 6. 8 19, 22, 24. 28
150X 150 130 165(UBIIE 2 7L) 150

—

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

125 50_ M8 x20 M8x20 50 108 125 50 MBx20
—_ —
o) ="
%f \\‘-N s i ﬁ\ 2
) ™ I )i /“\ W &
4 ff{}\\ s & & A /{) I\ e
4 4 )
\'Q&Jp’/ i | \&Jﬂf
=& <~
Output shaft & H &
300 234
M12x 28 |- 845 B4.5_| \12x28 140 845 | M12x28
- 1| 80 8 [ 10 80
Ihl
© \rio i < o
® A &
o 8 45 45 i
Output flange B ik=
122
111 ©250 S8 e B
G) @ n 6
200 x 200 | s ] offﬂg__&_
of/ 1 Yo b 0 }EN-./JJ
N 2
@ ] 8
I —
. IR E
| | || ) o 14 lo|| | | i -
PN % :
110 151
200 x 200 13
6 ;{; [ 6
R105 o] Yo
o %‘. [=+]
- N2 3
b 14 (| | e
@ o | i (]
N ] | | 1

FHE Weight: 13kg

_29_



RVZE 5 x40 18 7 Rk 1

RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

NMRV

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

127.5 160
e )
- 252.5 60 135
< 170 M10 x 24 , i :
il 8 i :ia |=:|
O ITT = LIS
8-M10x18 i =z| S| a E © 7 al
B 77 N S iz
d LN
YW 32 &t
Y ;
Input bore - S -
I I HANFL _:_-i- -
Iill II:I iA E
[\s)
Qutput bore
it FL
155
50 50 12
i = ®42H8
4 To]
2 @%
155 155
148 L 48
I
0 D 0 & &
B w» 5w
TNEE ' 2" ¥|F
a Q a
‘8_ ~—
w 0 e n 0 e
~ ™~
= o ) A @ ®
14 14
115 115
144 144
ol B : S22 E 5 B #;Z = Motor Flange
Center Distance | ¢\ "1 one | A48 0 MR | EXEE | Rl i\ 7L B 2 UA
A PAM IEC N M P E Input Shaft Hole Diameter
132B5 230 265 300
132B14 130 165 200
s 100/112B5 180 215 250
110 E&E= 90B5 130 165 200 6. 8, 10 19. 24, 28, 38
90B14 95 115 140
80B5 130 165 200
s B TR Rl M #l32 = Motor Flange
Center Distance | o o "Type| E=#AE 1N FFRLTIIE | ESiaK gl MAMALERUA
A PAM IEC N M P E Input Shaft Hole Diameter
a 130X 130 100, 110 | 145(URBVEEZ7L) 130
110 HEZ 180X 180 14,3 200 180 8. 10 22, 24, 28, 35. 38

NRV

110

-30~-

142 60 60 135 142 60
- M10 x 24 M10x 24 M10 x 24
I [TT 8 TTT [T1
)y /’\ g 3 r%—\ \ 3
@ D))
&) A2
\\
i R I E S i
[ 11 L1 1 | B |
Output shaft % H
324 249
84.5 84.5 155 84.5
M16x36 g0 50 | M16x36 12 gl
| w
: e -
«©
s < 50 50 ¥
9 9
Output flange i %2
260 x 260 131
R140 \15 .
Y\ e
(U
N .
g
g":'?o )
$ S —

EHE Weight: 40kg

_31_



RVER 5 &5 5e ta+ imiE

RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

RVE S tm5e 88 iR E 1

RV SERIES WORM GEAR SPEED REDUCER

NMRV

NRV

130

147.5 i 180
292.5 S ~
0 M10x24 80 155
) Y'Lﬂ 8 ,
I:I I:I 0
8-M12x21 T z[Z|a E 3
T ! o
\ 2
b= — UA =
Input bore
HAFL
2
095 s 13 Qutput bore
2 170 i FL
60 60
|
170 170
162 162
EENN=d Y, SEEN A
2 ) s 8
o2 | 3 o8 .
e o - .
16 120 ®16 120
165 155
s 6 : S22 E 5k R HLE = Motor Flange
Center Distance Flange Type ﬁémﬁ -Itn ;ﬁﬂgm mﬁ ﬂﬂ mAﬁRE&UA
A PAM IEC N M P E Input Shaft Hole Diameter
132B5 230 265 300
132B14 130 165 200
130 Bk 100/112B5 180 215 250 8. 10 24, 28, 38
90B5 130 165 200
90B14 95 115 140
':F'I‘..‘;EI TR Rl M #l32 = Motor Flange
Center Distance Flange Type %;mﬁ -Itu m%ﬂﬂﬁ m-& ﬁﬂ fﬁ)\ﬂﬂEEUA
A PAM IEC N M P E Input Shaft Hole Diameter
X . Y2
130 gz (130X130 L 100, 110 | MSUBBEA) L 150 | g 40 | 22, 24, 28, 35. 38

182 .90 . mrox2a . M10x24 (20155 162 80 m10x24
=l
| =5 2 e e
& ] 3
| @-& e (<3 (=]
Output shaft % H #l
340 265
M16x36 | 85 85 | M16x36 170 85 | M16x36
80 80 14 80
= 0
@ e i
= = 2 H] 2
s < 60 60 ]
) )
Output flange #rH &=
290 x 290

R160

16

EHE Weight: 50kg

-32-

_33_



RVER 5 &5 5e ta+ imiE

RV SERIES WORM GEAR SPEED REDUCER

Hﬁiﬁﬂlﬂﬁ!ﬁ?‘ Dimensions

RVE S tm5e 88 iR E 1

RV SERIES WORM GEAR SPEED REDUCER

NMRV

NRV

170 210 s
-T- —
340 80 175
® 240 M12 x 28
H J L z|s o E 8@
8-M12x 22 i ;;
\ ° e
' UA
Input bore
WA
Output bore
5 ML
725  72.5 i
% o, ©50HS
w
200 200
192 192
LN
//
ey O
gl 8l \ S
g || € g | 2
= -
e =
SERE: 2| & ssL
i ¥
145 145
185 185
il 36 : s 2 7k B #1 7% = Motor Flange
Center Distance | gj. ™ "1 oo | & 4% kO MAIRLTLEE | EXEE | @l 3\ 7L E Z UA
A PAM IEC N M P E Input Shaft Hole Diameter
160B5 250 300 350
N 132B5 230 265 300
150 B2 139814 T30 T6E 200 |8 10 12 28, 35, 38, 42
100/112B5 180 215 250
s B TR Rl M #l32 = Motor Flange
Centerpl?ista"ce Flange Type| JE=HHK O SHRATLIE | A=Ak 1 BWMAMILEZUA
PAM IEC N M P E Input Shaft Hole Diameter
sz 180X%180 114. 3 200 180 28, 35, 38. 42
L BEE [ 520%220 200 235 sy o 1 IR 42

80 Mi12x28 10 M12 x 28 M12 28
8 [<+]
© -, ©
ST wn
@ 8
= o 5
Output shaft % 4 #
374 297
M16x 36 2L 87| M16x36 o 200 .87 \j16x38
1|82 g2 [ 82
£ ] ¥ e
0 3 l 3
o 6 72.5 72.5 sy
Output flange &%=
290 x 290 i
15
7
o(‘)o |
E ml
I
3
P
(o] O .

EHE Weight: 84kg

-34 -

_35_



RVZE 5 x40 18 7 Rk 1

-36 -

RV SERIES WORM GEAR SPEED REDUCER

NMRV-NMRV

| NMRV-NMRY |

ﬂ%‘iﬂﬂﬂ Model notes

NMRV-063/130-600-VS-F1 (FA)-AS-80B5-0.75kW-AS1
NMRV-NMRV Sgﬁnzgi;ﬁzﬂlmorm geared motor
NRV-NMRV ﬁﬁﬁ?ﬂﬁﬁ?&?&cer (Mounting input shaft)
063/130 | e dictance
600 gﬁtﬁ:tion ratio
VS gﬁﬁgﬁput shaft F1 ( FA) gﬁfﬁﬁl{aﬂzfﬁ%
AS ;nﬁgﬁ%ﬁput shaft AB %ﬂﬁﬁ;ﬂ cﬁtput shaft
PAM ﬁtﬁleﬁ%r motor coupling 80B5 Eﬂf} %i*gtﬁfgﬂfyﬁ
0.75kW gghﬁfmotor power As1 ﬁf_ﬁtﬁg position

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

NMRV-NM RVﬁ%TJ_:T:t Mounting positions

AS1 AS2 BS1 BS2

1

===jll2

Il

PS1 PS2

F1

_37_



RVZE 5 x40 18 7 Rk 1

RV SERIES WORM GEAR SPEED REDUCER

iﬁﬁg‘& Parameter selections

WRRENGE=8A, BWAEE1400r/min)/(Ac4tREH)

Double step reducer(flange input, input speed is 1400r/min)/(matched with 4 poles motor)

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

HE | Wb | Wl | B (SRR |REE WL ER HE | Wd | W | B |SEE(REER W ER
HE | RE | 2 | feantk{temntt (fkaitt |BEEaA| BE MEB | #3E | %5 |teantb|feantt (kaitt | E@H| BEH
Model |Nefoimin)| MAN.m)| i i1 i2 | kN | fs. Model |Nef(rmin)| MeN.m)| i i1 i2 | kN | fs.
0.06kw 0.06kw
25/30| 14 25 100 10 10 1.62 | 1.3 40/75| 0.6 | 330 | 2400 | 60 40 | 7.38 | 1.1
93 | 32 [ 150 [ 10 [ 15 | 183 [ 09 0.47 | 377 [ 3000 60 | 50 | 7.38 | 0.8
70 | 41 [ 200] 10 [ 20 [1.83] o7 0.35 | 355 | 4000 | 50 | 80 | 7.38 | 0.7
56 | 44 | 250 | 10 | 25 | 183 | 038 0.28 | 419 | 5000 | 50 | 100 | 7.38 | 0.5
25140 47 | 59 [ 300 [ 10 | 30 | 349 1.2 40/90| 0.5 | 405 | 3000 | 60 | 50 | 8.18 | 1.4
35 | 71 [ 400 [ 10 | 40 [ 349 [ 09 0.35 | 365 | 4000 | 50 | 80 | 8.18 [ 1.3
28 | 82 [ 500 | 20 | 25 [ 349 07 0.28 | 431 | 5000 | 50 | 100 | 81.8 [ 1.0
23 | 101 | 600 | 20 | 30 | 3.49 | 06 0.09kw
1.9 | 116 | 750 | 25 [ 30 | 349 | 05 2530 14 | 37 [ 100 [ 10 [ 10 [ 162] 08
1.6 | 143 | 900 | 30 [ 30 [ 349 05 93 | 49 [ 150 [ 10 [ 15 [ 183 ] 086
1.2 | 171 [ 1200 | 30 [ 40 [ 349 | 04 7.0 | 62 [ 200 | 10 [ 20 [183] 05
0.9 | 197 [ 1500 | 50 | 30 | 3.49 | 03 56 | 66 | 250 | 10 | 25 | 1.83] 05
0.8 | 217 [ 1800 60 | 30 | 349 [ 03 47 | 75 [ 300 [ 10 [ 30 [1.83 ] 04
0.6 | 268 [ 2400 [ 60 | 40 | 349 [ 0.2 35 [ 107 [ 400 [ 10 [ 40 [1.83] 03
05 | 324 | 3000 | 60 | 50 | 3.49 | 0.2 28 | 115 [ 500 | 20 | 25 | 1.83 [ 0.2
0.4 | 294 [ 4000 | 50 | 80 | 3.49 | 0.1 23 [ 135 [ 600 | 20 | 30 | 1.83 [ 0.2
0.3 | 356 [ 5000 | 50 | 100 | 3.49 | 0.1 1.9 | 151 | 750 | 25 | 30 [ 1.83 [ 0.2
30/40| 47 | 57 | 300 | 10 | 30 [349] 13 1.6 | 178 | 900 | 30 | 30 [ 1.83 | 0.2
35 | 70 | 400 | 10 | 40 | 349 | 009 1.2 | 212 [ 1200 | 30 | 40 [ 183 ] 0.1
28 | 96 [ 500 | 20 | 25 | 349 | 06 0.9 | 247 [1500 [ 50 [ 30 [ 1.83 [ 0.1
23 | 104 [ 600 [ 20 [ 30 | 349 07 0.78 | 304 [ 1800 | 60 [ 30 | 1.83 | 0.1
19 | 121 [ 750 | 25 [ 30 [ 349 06 0.58 | 340 [ 2400 | 60 [ 40 [ 1.83 | 0.1
1.6 | 139 | 900 | 30 [ 30 [ 349 05 0.47 | 405 [ 3000 60 [ 50 | 1.83 ] 0.1
1.2 [ 166 [ 1200 | 30 [ 40 [ 349 04 30/40] 47 | 88 | 300 [ 10 | 30 [ 349 [ 08
0.9 | 196 [ 1500 [ 50 | 30 | 349 [ 04 30/50| 35 [ 107 [ 400 | 10 [ 40 [ 484 | 1.2
0.8 | 218 [ 1800 | 60 | 30 | 349 | 03 28 [ 123 [ 500 [ 10 [ 50 | 484 [ 1.0
058 | 261 [ 2400 60 | 40 | 349 | 0.2 23 | 159 [ 600 [ 20 [ 30 [ 484 ] 09
0.4 | 300 [3200] 80 | 40 | 3.49 | 02 1.9 | 185 | 750 | 25 | 30 [ 4.84 | 0.8
0.4 | 279 | 4000 | 50 | 80 | 3.49 | 0.1 16 | 212 | 900 | 30 | 30 | 4.84 | 0.7
0.28 | 338 | 5000 | 50 | 100 | 3.49 | 0.1 30/63| 1.6 | 200 | 900 | 15 | 60 [ 6.27 [ 1.0
30/50| 16 | 141 [ 900 | 30 [ 30 [4.84 ] 1.0 1.2 | 263 [ 1200 30 | 40 [ 6.27 | 0.9
1.2 | 169 [ 1200 | 30 [ 40 [ 4.84 | 0.7 0.93 | 305 [ 1500 | 30 | 50 | 6.27 | 0.7
0.93 | 199 [ 1500 [ 50 | 30 | 4.84 | 07 40/75| 0.9 | 359 [ 1500 | 50 | 30 | 7.38 | 1.1
0.78 | 222 | 1800 | 60 | 30 | 4.84 | 0.7 0.78 | 404 [ 1800 60 [ 30 [ 7.38 | 1.0
0.6 | 266 | 2400 | 60 | 40 | 4.84 | 05 0.58 | 496 [ 2400 60 | 40 | 7.38 | 0.7
0.5 | 307 [3000] 60 | 50 | 484 04 40/90| 05 | 608 | 3000 60 | 50 | 8.18 | 0.9
0.35 | 288 | 4000 | 50 | 80 | 4.84 | 03 0.35 | 548 | 4000 | 50 | 80 | 8.18 | 0.8
0.29 | 311 | 4800 | 60 | 80 | 4.84 | 03 0.12kw
30/63| 0.9 | 203 [ 1500 | 30 | 50 | 627 | 1.1 30/50] 47 [ 118 [ 300 | 10 | 30 [ 484 ] 1.2
078 | 225 [ 1800 | 30 | 60 | 6.27 | 0.9 35 | 142 [ 400 | 10 | 40 | 484 | 009
0.58 | 276 | 2400 | 60 | 40 | 6.27 | 08 2.8 | 164 [ 500 | 10 | 50 | 484 | 07
0.47 | 319 [ 3000 60 | 50 | 6.27 | 07 30/63| 28 | 171 [ 500 | 10 | 50 [6.27 ] 1.3
0.35 | 306 | 4000 | 50 | 80 | 6.27 | 06 2.3 | 208 | 600 | 15 | 40 | 6.27 | 1.1
0.28 | 360 [ 5000 [ 50 | 100 | 6.27 | 0.4 1.9 [ 241 [ 750 | 15 | 50 [6.27 [ 0.9

& | W | WY | B |SEE|RER WHE ER HE (M | WE | 5 | BRE | KRR | wilE| &R
B | FE | FIE (fEahlb | At (RALL | ERb| RE A | FE | e (fEahEL| L | kL | E@A| AE
Model | Nx{rfmin)| Me(N.m) i i1 i2 KN f.s. Model | Ne(imin}| M:(N.m) i i i2 kN Tia.

0.12kw 0.37kw
40/75| 1.6 324 900 30 30 7.38 1.2 63M130| 0.78 | 1887 | 1800 | 60 30 13.5 | 0.9
12 399 | 1200 | 30 40 7.38 | 0.9 63/150( 0.78 | 1774 | 1800 | 60 30 18 1.2
40/90| 0.78 | 546 | 1800 | 30 60 8.18 | 0.9 0.6 | 2141 | 2400 | 60 40 18 1:2
0.58 | 695 | 2400 | 60 40 8.18 | 0.9 0.5 | 2535 | 3000 | 60 50 18 0.9
50110 0.5 883 | 3000 | 60 50 |10.32| 1.2 0.55kw
0.35 | 784 | 4000 | 50 80 |10.32| 1.0 501110| 4.7 638 300 10 30 |10.32] 2.0
0.28 | 928 | 5000 | 50 100 | 10.32| 0.8 3.5 826 | 400 10 40 |10.32| 1.4
0.18kw 2.8 984 500 10 50 [10.32| 1.1
30/63| 3.5 221 400 10 40 6.27 1.0 2.3 1181 | 600 15 40 110.32| 1.0
2.8 257 500 10 50 6.27 | 0.8 i) 1411 | 750 25 30 [10.32| 0.9
40/75| 2.3 362 600 20 30 7.38 14 63130 _2-8 995 500 10 50 13.5 1.6
1.9 435 750 25 30 7.38 | 0.9 1.9 | 1471 | 750 25 30 13.56 1.2
1.6 487 900 30 30 7.38 | 0.8 1.2 | 2132 | 1200 | 30 40 13.5 | 0.8
40/90| 1.2 629 | 1200 | 30 40 8.18 1.0 631150 0.78 | 2637 | 1800 | 60 30 18 0.8
093 | 735 | 1500 | 30 50 8.18 | 0.8 0.6 | 3182 | 2400 60 40 18 0.8
50110 0.8 860 | 1800 | 60 30 |10.32| 1.5 0.75kw
0.58 | 1113 | 2400 | 60 40 [10.32] 1.1 50M110| 4.7 871 300 10 30 |10.32] 1.5
0.25kw 3.5 | 1126 | 400 10 40 [10.32] 1.1
30/63| 3.5 159 | 400 10 40 6.27 1.4 63130 2.8 | 1357 | 500 10 50 13.5 114
2.8 185 500 10 50 6.27 1.2 2.3 | 1631 | 600 15 40 13.5 1.0
40/75| 3.5 336 | 400 10 40 7.38 1:1 1.9 | 2005 | 750 25 30 13.5 | 0.9
2.8 384 500 10 50 7.38 | 0.8 1.6 | 2283 | 900 30 30 13.5 | 0.8
40/90| 2.3 511 600 15 40 8.18 1.2 631150 2.8 | 1290 | 500 10 50 18 1.8
1.9 598 750 15 50 8.18 | 0.9 2.3 | 15629 | 600 15 40 18 157
1.6 667 900 15 60 8.18 | 0.8 1.9 | 1783 | 750 25 30 18 1.3
50M10| 1.2 943 | 1200 | 30 40 [10.32] 1.3 1.6 | 2215 | 900 30 30 18 0.9
0.93 | 1064 | 1500 | 50 30 |10.32| 1.2 1.2 | 2680 | 1200 | 30 40 18 1.0
0.78 | 1195 | 1800 | 60 30 [10.32] 141 1.1kw
63M30| 0.6 | 1624 | 2400 | 60 40 13.5 1.0 63M30| 4.7 | 1312 | 300 10 30 13.5 1.3
0.47 | 1935 | 3000 | 60 50 13.5 | 0.8 3.5 | 1671 | 400 10 40 13.5 1.0
0.35 | 2046 | 4000 | 50 80 13.56 | 0.6 2.8 | 1991 | 1560 10 50 13.6 | 0.8
0.28 | 2430 | 5000 | 50 100 | 13.5 | 0.5 63M150| 9.3 752 150 10 15 18 3.1
63150, 0.8 | 1199 | 1800 | 60 30 18 1.8 7.0 966 | 200 10 20 18 2.4
0.8 | 1199 | 1800 | 60 30 18 1.8 56 | 1175 | 250 10 25 18 1.7
0.6 | 1446 | 2400 | 60 40 18 1.8 4.7 | 1364 | 300 10 30 18 1:7
0.5 | 1713 | 3000 | 60 50 18 1.4 3.5 | 1619 | 400 10 40 18 1.6
0.4 | 2026 | 4000 | 50 80 18 0.9 2.8 | 1893 | 500 10 50 18 1.2
0.3 | 2251 | 5000 | 50 100 18 0.7 2.3 | 2242 | 600 156 40 18 1.2
0.37kw 1.9 | 2616 | 750 25 30 18 0.9
40175 4.7 405 300 10 30 7.38 1.0 1.5kw
3.5 498 | 400 10 40 7.38 | 0.7 63130 4.7 | 1789 | 300 10 30 13.5 1.0
40/90| 4.7 401 300 7.5 40 8.18 1.5 3.5 | 2279 | 400 10 40 13.5 || 0.7
3.5 523 | 400 10 40 8.18 1.2 63M150| 9.3 | 1026 | 150 10 15 18 2.3
2.8 611 500 10 50 8.18 | 0.9 i 1317 | 200 10 20 18 1.8
2.3 757 600 15 40 8.18 | 0.8 5.6 | 1602 | 250 10 25 18 1.3
50110 1.9 949 750 25 30 [10.32] 1.3 4.7 | 1860 | 300 10 30 18 1.3
1.6 | 1079 | 900 30 30 |10.32| 1.2 3.5 | 2208 | 400 10 40 18 1.2
1.2 | 1396 | 1200 | 30 40 |10.32| 0.8 2.8 | 2682 | 500 10 50 18 0.9
63M130| 0.9 | 1674 | 1500 | 50 30 13.5 121 2.3 | 3057 | 600 15 40 18 0.9

-38 -

_39_



RVZE 5 x40 18 7 Rk 1

RV SERIES WORM GEAR SPEED REDUCER

TR EM(GhEEA, WMAEE1400r/min)

Double step reducer(shaft extend input, input speed is 1400r/min)

HLERS | e (WHERN T EEE) Eah it | Mt | H HERS | WS |6 LR RS itk | | S
Model | T | Ne Me i |zan|emn Model | o [ N M2 i |zmn|lean
kw | (fmin) | (Nm) kN kN kw | (min) | (Nm) kN kN
30/40 | 0.1 | 4.7 73 | 300 | 3.49 | 0.21 40/90 06 | 47 | 610 | 300 | 8.18 | 0.35
01 | 35 65 | 400 | 3.49 | 0.21 043 | 3.5 | 610 | 400 | 8.18 | 0.35
0.08 | 2.8 61 | 500 | 3.49 | 0.21 034 | 28 | 560 | 500 | 8.18 | 0.35
0.06 | 2.3 73 | 600 | 3.49 | 0.21 03 | 23 | 610 | 600 | 8.18 | 0.35
0.04 | 1.9 73 | 750 | 3.49 | 0.21 0.23 | 1.9 | 560 | 750 | 8.18 | 0.35
0.03 | 06 73 | 900 | 3.49 [ 0.21 02 | 16 | 505 | 900 | 8.18 | 0.35
0.02 | 1.2 65 | 1200 | 3.49 | 0.21 03 | 1.2 | 610 | 1200 | 8.18 | 0.35
0.02 | 0.9 73 | 1500 | 3.49 | 0.21 0.14 | 0.93 | 560 | 1500 | 8.18 | 0.35
0.02 | 0.8 73 | 1800 | 3.49 | 0.21 0.11 | 0.78 | 505 | 1800 | 8.18 | 0.35
0.01 | 058 | 65 | 2400 | 3.49 | 0.21 0.11 | 0.58 | 610 | 2400 | 8.18 | 0.35
0.01 | 0.4 65 | 3200 | 3.49 | 0.21 0.1 | 0.47 | 560 | 3000 | 8.18 | 0.35
0.01 | 0.35 | 33 | 4000 | 3.49 | 0.21 0.1 | 0.35 | 460 | 4000 | 8.18 | 0.35
001 | 028 | 29 | 5000 | 3.49 | 0.21 01 | 0.28 | 410 | 5000 | 8.18 | 0.35
0.15 | 4.7 | 145 | 300 | 4.84 | 0.21 11 | 4.7 | 1265 | 300 | 10.32 | 0.49
30780 01 3.5 | 124 | 400 | 4.84 | 0.21 S0/110 5[ 3.5 [ 1185 | 400 | 10.32 | 0.49
01 | 2.8 | 120 | 500 | 4.84 | 0.21 061 | 2.8 | 1100 | 500 | 10.32 | 0.49
01 | 2.3 | 145 | 600 | 4.84 | 0.21 06 | 2.3 | 1185 | 600 | 10.32 | 0.49
0.1 | 1.9 | 145 | 750 | 4.84 | 0.21 05 | 1.9 | 1265 | 750 [ 10.32 | 0.49
01 | 1.6 | 145 | 900 | 4.84 | 0.21 0.43 | 1.6 | 1265 | 900 | 10.32 | 0.49
0.08 | 1.2 | 124 | 1200 | 4.84 | 0.21 0.31 | 1.2 | 1186 | 1200 | 10.32 | 0.49
0.06 | 0.93 | 145 | 1500 | 4.84 | 0.21 0.3 | 0.93 | 1265 | 1500 | 10.32 | 0.49
0.04 | 0.78 | 145 | 1800 | 4.84 | 0.21 0.3 | 0.78 | 1265 | 1800 | 10.32 | 0.49
0.03 | 0.6 | 124 | 2400 | 4.84 | 0.21 0.2 | 0.58 | 1185 | 2400 | 10.32 | 0.49
0.02 | 0.5 | 120 | 3000 | 4.84 | 0.21 0.15 | 0.47 [ 1100 [ 3000 [ 10.32 | 0.49
0.02 | 035 | 82 [ 4000 | 4.84 | 0.21 0.13 | 0.35 | 819 | 4000 | 10.32 | 0.49
0.02 | 0.29 | 82 | 4800 | 4.84 | 0.21 0.1 | 0.28 | 746 | 5000 | 10.32 | 0.49
0.24 | 4.7 | 230 | 300 | 6.27 | 0.21 08 | 2.3 | 1650 | 600 | 13.5 | 0.7
30/63 35 T35 | 230 | 400 [ 6.27 | 0.2 631130 —57 T 79 [ 1760 | 750 | 13.5 | 07
02 | 2.8 | 216 | 500 | 6.27 | 0.21 06 | 1.6 | 1760 | 900 | 135 | 0.7
0.13 | 2.3 | 230 | 600 | 6.27 | 0.21 04 | 1.2 | 1650 | 1200 | 135 | 0.7
011 | 1.9 | 216 | 750 | 6.27 | 0.21 04 | 093 | 1760 | 1500 | 135 | 0.7
01 | 1.6 | 198 | 900 | 6.27 | 0.21 0.4 | 0.93 | 1760 | 1500 | 135 | 0.7
01 | 1.2 | 230 | 1200 | 6.27 | 0.21 03 | 0.78 | 1760 | 1800 [ 135 | 0.7
0.1 | 0.93 | 216 | 1500 | 6.27 | 0.21 0.3 | 0.58 | 1650 | 2400 | 13.5 | 0.7
0.1 | 0.78 | 198 | 1800 | 6.27 | 0.21 0.2 | 0.47 | 1550 | 3000 | 135 | 0.7
0.1 | 0.58 | 230 | 2400 | 6.27 | 0.21 0.1 | 0.35 | 1220 | 4000 | 13.5 | 0.7
0.08 | 0.47 | 216 | 3000 | 6.27 | 0.21 0.1 | 0.28 | 1100 | 5000 | 13.5 | 0.7
0.06 | 0.35 | 172 | 4000 | 6.27 | 0.21 63/150 | 34 | 93 | 2340 | 150 | 18 0.7
0.04 | 0.28 | 150 | 5000 | 6.27 | 0.21 27 | 7.0 | 2340 | 200 | 18 0.7
40/75 |04 | 47 | 390 | 300 | 7.38 | 0.35 19 | 56 | 2050 | 250 | 18 0.7
03 | 35 | 360 | 400 | 7.38 | 0.35 19 | 47 | 2340 | 300 | 18 0.7
0.21 | 2.8 | 320 | 500 | 7.38 | 0.35 1.8 | 3.5 | 2670 | 400 | 18 0.7
0.2 | 2.3 | 390 | 600 | 7.38 | 0.35 1.4 | 2.8 | 2330 | 500 | 18 0.7
02 | 1.9 | 390 | 750 | 7.38 | 0.35 1.3 | 2.3 | 2670 | 600 | 18 0.7
0.14 | 1.6 | 390 | 900 | 7.38 | 0.35 1.0 | 1.9 [ 2330 | 750 | 18 0.7
011 | 1.2 | 360 | 1200 | 7.38 | 0.35 0.7 | 1.6 | 2100 | 900 | 18 0.7
0.1 | 0.93 | 390 | 1500 | 7.38 | 0.35 0.7 | 1.2 | 2670 [ 1200 | 18 0.7
0.1 | 0.78 | 390 | 1800 | 7.38 | 0.35 04 | 0.8 | 2100 | 1800 | 18 0.7
0.1 | 0.58 | 360 | 2400 | 7.38 | 0.35 05 | 06 | 2670 | 2400 | 18 0.7
0.1 | 0.47 | 320 | 3000 | 7.38 | 0.35 0.3 | 0.5 | 2330 | 3000 | 18 0.7
0.08 | 0.35 | 250 | 4000 | 7.38 | 0.35 02 | 0.4 | 1880 [ 4000 [ 18 0.7
0.06 | 0.28 | 230 | 5000 | 7.38 | 0.35 0.2 | 0.3 | 1650 | 5000 | 18 0.7

- 40 -

RVZES b %6 15+ R 1

RV SERIES WORM GEAR SPEED REDUCER

NMRV-NMRV4%M!R Dimensions

NMRV025-NMRV030

0 100 25
il
O 0 ]|
=3 - | =l _
Ea\ \ = TlE e
&
T
NMRV025-NMRV040
0
& 50 115 )

60h8

60h8

= = ¢’<}ﬂ
m) N ES ek e
| /6\\ \ > 55 = [_
Y < s el
43
60
1
NMRV030-NMRV040
80 50 122 29 8
ili 70 73
2> Tl ] [y W I A
kj % KJ_'_ Ik 5) \%l_ m:‘.g Q&_Jﬁ
@y BES 1 A i
W 7N 1Bl
I P HH
43
60

1818

818

It}

20.8

_41_



RVRSIERIC IR RLE RV SERIES WORM GEAR SPEED REDUCER RVERZFIERIE IR RLR RV SERIES WORM GEAR SPEED REDUCER

NMRV-NMRV4%MER Dimensions NMRV-NMRV4%E!RJ Dimensions

NMRV030-NMRVO050 NMRV040-NMRV090

—49 =

0 80 132 99 ) 100 103 1845 36.5 140
5 ?lﬁ 87 10 134
i
j__;>u i A = ET No=5@ 140
B (Gr=aNE) b i
I o T = o \( \, (5. &
\ N T TN €4 [ Jletd
4 ) z mnlll P D i e
=l o = Z L1l ﬁ | |
gl sl
!
0
NMRV030-NMRV063 NMRV050-NMRV110
8 s, 26 85 155
0 ) 145 29 106 ] BE I -
1 9% _ E o — @ H_qmm 3 & @ )E
= 3 =5 Hi " = } 155
< HOTR] 112 S| SR ERE - RN
e |2 N/ A Wl || = b
W)k = OI:rFO [ NN = =il g 7
= | z = ) ]| = ﬂ;
| B IHIT T '.I ;mz __i-—__:=__.-___,__
; — s B =3 N — ra &
§ prE i1 \“%\
g; 115
. 144
103 ®
s 15 5 170
: o0 16, e
8 ; 167.5 ;m_‘ 120 ) i m é _
10 1%0 114 % Y- ]_1{ ] 1 o
il © I By &
_IJ T TIT W o ; E [] il _ e ol }'$’ "
-+ N 2 ~ 0/\0 120 11 sl [Se N i N
. - Vs - b =< \ o L4, <40, / a B ] ,@;
Il = B Bl s 7 - =R
| 4 %Jf * - h T g #H : J = — =] 7 “@mﬁ
¥ REE | | L 2 e, 1=
3~ s = a &
// T LE ) - T {\,&
&l : 1 10
L 0 155
B




- 44 -

RVRSIERIC IR RLE RV SERIES WORM GEAR SPEED REDUCER RVERZFIERIE IR RLR RV SERIES WORM GEAR SPEED REDUCER

BieE
NMRV-NMRV4%MELR I Dimensions Accessories
WﬂPE Protective cover
NMRV063-NMRV150 -
1
1m0 o5 5 200 4 RS N2
— 7 1 i 030 42
A H = TIT T T By T 040 50
) = Lor— )l - oMo 050 58
5 5 )| | e N 20 @ 063 69
C s (B4 NI I o
- / ] ) EREm== | | e=a=E ,]Eﬂ- - M- H 4 075
g e - 2z 090 86
—— =i . 110 94
| = ey % 130 102
= = z & =2 150 117
TTiT g - i
145
) 185
8
HAHDERT size oftorque arm
|
KA1 R KG G KH
. y _ ) 025 70 15 17.5 14 8
NRV-NMRV%MERT Dimensions T T e o o :
040 100 18 31.5 14 10
po@ 050 100 18 38.5 14 10
063 150 18 49 14 10
075 200 30 47.5 25 20
A 090 200 30 57.5 25 20
bl S 110 250 35 62 30 25
o & el 130 250 35 69 30 25
= .g’ =T =) 150 250 35 84 30 25
4“_‘ .———:'”-——_.
s | | o
HEEmiEmE(L)  Adding capacity of lubrication oil
A& Type
s 025 | 030 | 040 | o050 | 063 | o075 | oe0 | 110 | 130 | 150
NRV-NMRV| 025-030 | 025-040 | 030-040 | 030-050 | 030-0863 | 040-075 | 040-090 | 050-110 | 063-130 | 063-150 by
B 20 20 20 20 20 23 23 30 40 40 B3 3 45 7
D1 9 j6 3 j6 9 j6 9 6 936 | 1146 | 1136 | 146 | 19 j6 | 19 j6 He BT 25 3.5 5.4
G2 42 42 51 51 51 60 60 74 90 90
1 5 15 10 20 33 35 50 60 67 87 B8 0.02 0.04 0.08 0.15 0.3 0.55 1 2.2 3.3 5.1
b1 3 3 3 3 3 4 4 5 6 6 Ve 2 G =
f1 = = = = - = = M6 M6 M6
1 10. 2 10. 2 10.2 10.2 10. 2 12.5 12.5 16 21.5 21.5 V6 2.2 3.3 5.1

_45_



RVZE 5 x40 18 7 Rk 1

1

2

3

RV SERIES WORM GEAR SPEED REDUCER

RVZES b %6 15+ R 1

{sEFEi5EA

Operating Instructions

R IR AT R

1.1 RENES25-90 KA AEE S REHEE, INPEEN SRR AR/, EBE, TERETE, F25EM.

1.2 RENES110-150RARFHIBREE, SPEENEE, TSHURESR.

1.3 BUAMREYY, REWE, WER.

1.4 ZEREDT, FFR, Kb, BEE.

1.5 AEMNMAREERLNSHENZENS, BESHERESE BN RENFAEEGTRIENSHERLT,
EAEE.

R R AT iR AL

2.1 HRRRTRIENA ST, RERRRTRENN—MR=S, MRESAED.
2.2 ERNEASHEF: 25/30. 25/40. 30/40. 30/50. 30/63. 40/75. 40/90. 50/110. 63/130. 63/150, AR&
F R ERED, AR B iR EEIE25, 30, 40, 50, 63. 75, 90. 110, 130. 150{ERESRTIEITHES.

REFEREN

3.1 RN AR REF R EENFE L, KEESSTER. BHR.

3.2 Fahil-—mE - - TR RSB, RS AERERTERZ.

3.3 RENE A G M L iR MER T AEIRN6HIE, SZECENBMES. R, HREENHFRISERSER
ERJYES, BRRkRIRRAME®R, RESNREWERNIDESR.

3.4 8%, NRFEIMNER LR, NEEFIEME, LIRSHEZSHAD.

3.5 WiEY R ACBYLES, MEWHLAAFL AL BN ERELRIKER, BORIETR, BHLEMIBAES.

3.6 fEASXRBNERERENN, HENEERK, MEERE.

4 (FERFEEIN

- 46 -

4.1 ERRREESRERENENES . POEMNE. Eath. BABRERLSN. BHBEHE. BAHEE D HHE
EEMOESASEREFEEAER BITRAEEREEEZ1500r/min,

4.2 FFBY BLE L REIN T, A RE i H Rl .

4.3 B525-90RENIRFEINHFLINBEHFL, B BEEN RS MNFISO Vg320i@igit, AFEHEBINMN HEaESLITER
S500/MafE, RIZ BRI . LASRIBEARERH6000/d .

4.4 BS110-150RGENIRAMHEA . BoRFLAGHE, RIENREINFIS0 VG460 iR, MPEERRZHIEESSE
H&ER . BRIET400/REERENE, LUSERY40000aRIE—IR.

4.5 mEH ATRSHENSST, BENMEINE.

4.6 HERENECERICHENEEBIZ4-60R, MBHXKRBRADBED, HEEFERHH.

4.7 BERENERRREEEINEFRFNEEARREESCLLE, BSHRATARBKER.

RV SERIES WORM GEAR SPEED REDUCER

Malfunctions Analysis
Faul%ﬂ!cﬂpﬂon #MHE Reasons #Ebi% Solutions
. RUEL. TR =
ifin roper cor%ectlo{n amcﬁg p:=-l;l|me morer, reducer Wﬁiﬁﬁﬁ, 'l!_”%‘iﬂﬁmﬁﬁm
and the operation device Adjust to proper position
Eﬁ&ﬁEE ELEEGE
Overloading Adjust to proper load
i # IS o B O AR
Overheating Over Friction of oil seals Drop lubricant at oil seal
g I E EEHLARiRERE
+ Lubricant oil over much or shortage Adjust to proper oil quantity as lubricant capacity table
S h = PR e b=t S FHRREARERSIEE
¥ Much impurity in oil or inlerior oil Refill proper oil
Rzha. ®@iE. TENEEFR BEHFAREESDG, FHEE
Prime mover, reducer and the operation device mount badly Find out the bad place, tighten it
EHIREE (WEAT AL
AR, Replace wcSrrn gear ets we w1|| cooperate with
= zh Tooth surface of worm gear sets worm—out or damaged you when necessary
Vibration HhAREER iR
Bearing worn—out Replace Bearing
IFIRTRER BRI
Bolt loose Tighten Screw
R SRR EEA S BB R
DA el Acist o proor poston
ﬁﬁﬁﬁﬁﬁﬁﬁt EiRiaR
e Bearing damaged or too large clearance Replace Bearing
Noise SACBIES R BN ERREE (B5FATKER)
Worm gear sets mesh badly Eeai o?ntaﬁc% Usor replace worm gear sets
i‘riﬁ%ﬁiﬁl*ﬂ ) EEHE RS IEER
#Lubricant oil shortage Fill in adequate oil as lubricant capacity table
HEEOER BEiRimE
Oil seal lip worm—-out Replace oil seal
RE AR Geplapeibson ol
bR Shalt of oil seal area worn—out Replace input or cutput shall with worm gear
Oilleakage HUHMREE AR BESNESE, EREE
Qil screw plug loose Tighten oil screw plug
THARRER EHGHR
Oil gauge damaged Replace oil gauge
BREEE HEEEH A
Overload Adjust to proper loading
wiEEHAHEER BIREEEEH
135 El +rLubricant oll not according with requirement Replace proper lubricant oil
EEERI R wTERAR EHtRE T AN EEE
Tooth surface ¥ Lubricant oil shortage Fill adequate oil as indication
of worm gear EREEREN R
65‘;::: —acl:l:ﬁ:cll(?y .ﬁé‘ﬁtﬁﬁﬁﬁ %&rﬁf&ﬁime according to Replacing oil in time according to require ment
2 g&ﬂg%%ﬁgﬁﬁmﬁﬂﬂ!
gﬁﬁfaﬁf while rinAlG 1k Deal?wth it as"Overheating"
g 9 2.Adopting proper measures to make
environment temperature fall

1L B S R R E .
2 REEENETERRE, ERESERIER, ERSaERS.
Annotate:1. # Accored after the lu bricant changed.
2.If other faults not listed above occur,Please contact with us at any moment, Our company will supply thorough consultation and service.

_47_




PCZEY\5% RN pc SERIAL GEAR REDUCER

PC PC+NMRV

%*@%}E‘\ Structural feature

PCER FIiR E L2 5 A B AL S5 418 i+ i B 4 I 4 1% 30 Rl iR 41 - PCO6 38! B R 5 4R {5 BRI ML 15 B EEi=3.0;PCO7 18U s 25
el R A 183 thi=3.0; PCO8OR B 4% iG%R fZhml i H 4 ¥ 3h [Li=3.0,PCO90E! & 5 5 12 1% 3 B HL KO & 3hi=2.42; (3%
HHEHAEE “BARSH” X)) . PCRIBGENTLURT M5, HTUERSENMRVRFRITEENAS(PC+NMRVAR T
XFEMASHAEE “PC+NMRVASRBENAZTHIR" &)

PC#H3IHI B & E A SNMRVE S 85T s E L A E B A B8, RUTFB14BMREHN,

PC serial gearreducer is a single—stage gear driving one adopting modularized structural design.i.e PC063 single—
stage gear driving reducer,its transmission ration i=3.0;PC071 single-stage gear driving reducer,its transmission ratio
i=3.1;PC080 single-stage gear driving reducer,its transmission raton i=3.1;PC090 single-stage gear driving reducer.its
transmission ration i=2.42; (the detailed data shown in the following table of technical data).(For the form of PC+NMRV
combination,its detailed data seen in the following table of “The Combination Form of PC+NMRYV reducer” ).

The connection method PC serial top reducer and NMRV serial worm reducer is comparatively simple,similar to the
connection form of B14.

EEE‘H:*ZH The materials for main parts

1.EHREE (ZL106)HEE,

2.20CrMnMoii#t & & MR T IE (BREA ) , WAL ERES (BE) .
3BEVIE H MR A0Cr PR ALE (AR FEENALE).

1.Die-casting aluminum alloy (ZL106)case

2.20CrMnMo gear alloy steel,surface treatment(cementing&hardening).involute tooth shape
grinding(grinding gear teeth);

3.The output shaft of reducer is made of 40Cr and adopts the heat treatment for medium
carbon steel (seasoning and surface hardening treatment).

EEHL&% Installation of the motor

ATEBBNMERZREBRNME, HEEUATLRAER:

1.2MEHEENREHH,

2T RS HM R TR,

3 MAMEDCEI00CT-120CE TETHBEORERNNAHE L.

4 SERWMEONH ER LMERO.

5.3 FRE@ 1R KRITE). (L IRTE ik _EIRSUR EIREBH L)

6. EPCHEEH T i 7% 8 8 i, /DB B R4 FH RS (PCRBENH HETRLTEIRE.)
7TELRTOBRBHMEN, TETERFERME,

FE: PCRIBEIAERANRERBHRARN, TRIEBNERS, REHFIET

- 48 -

PCAR IS EC IR EM

PC SERIAL GEAR REDUCER

The installation of the motor on PC serial gear reducer:

In order to fix the pinion correctly on motor shaft, please follow the procedures below:

1.Completely clean the output shaft of the motor;

2.Remove the flat key on the output shaft;

3.Heat the sleeve(1) up to 100°C~1207,and fix the sleeve(1)on the output shaft based on the diagram;

4.Fix the pinion(3)referring to the method of fixing the sleeve(1);

5.Fix the washer(4),and fasten countersunk head screws(5)(countersunk head screws shall be coated

with screw fixing glue in order to prevent looseness);

6.Because PC speed reducer has been filled with lubricate ,carefully remove the sealing end cover at(2)in the diagram;
(This procedure does not exist because PC speed reducer has been provided with a motor when leaving the factory.)
7.Replace skeleton oil seal and motor at(2)in the diagram, being careful not to damage the skeleton oil seal;

Note: PC serial speed reducer adopts a standard motor with high quality, and the motor may run with no

vibration and low noise.

al 3
B 25Q
=38 | N
— 2277
e — L I )
= = NN
—L'ih_J—v—/ 5 4

:|1:|:§§E Lubricating oil of the motor

PCER IR EA R A4 ERMESHFERAR (KHE) , TREREENENLERE,

PC 2 5 i 3 A 3R F2#4% /& 48 5 45 B i F Bl 19 T1E5E B -20C~+50T

-PC serial reducer adopts No.2 extreme pressure lithium lubricating grease(long-term) for lubrication; and
the reducer may be fixed according to the position indicated on the specification;

—No.2 extreme pressure lithium lubricating grease adopted on PC serial reducer has the working range
from —-20C~+50C

ﬁ§Mﬂ% PC 063 PC 071 PC 080 PC 090
ype
B3. B8
B6. B7 0.05L 0.07L 0.15L 0.15L
V5, V6

BB ()
Note: The unit of lubricant oil is liter (L).

_49_



PCRIINLC IR E

PC SERIAL GEAR REDUCER

ﬁ‘é%ﬁuﬂ Signs and markl exaple

PCRIFENMBSHAXNS, NES. FEANEE (HEWEY) . 2RELHHHBEREAN, KSKFIEATR:

The model includes model code ,bass number type equipped (power and pole number ).nominal gear ratio and the diameter of output shaft

The code is shown in rhe following table:

PC

BENHAXRS
Type

063, 071, 080, 090

BEYLMALES

Base number

Y0.09-Y2.20(2P. 4P, 6P. 8P)

G plzhE, &M (4PEHRE)

Whth motor power,poles(our polds omittde)

3.00, 2.42

AFREEE (MR YL AR R I LIRS )
Nominal gear ratio (This kond of reducer is sing-stage gdar drive,
available to omit)

611, ¢14. 619, $24, $28

HHMER (RENREYR
Output shaft diameter (Standard shaft diameter omitted)

B3. B8, B6. B7. V5, V6

ZEFARE (RPCEABBBMEREFR)
Code of installation form(See the installation fom of Pcserial reducer)

1. 2. 3. 4

BEEFERS (LBNBEEFE)
Location of suitchbox (See location of motor suitchbox)

B SHRiCRA:
Signs and marks example
PC063-Y0.18(4P)-3.0- ¢ 11-B8-3% R FPC063-Y0.18-B8-3
B RENNHERE: PC
Type:PC
063 WL ALEE: 63
Base number:063
o ECRHLIH ;0. 18KW M =4P (B B H163B5F )
LB With motor power:0.18KW, four poles(with motor 63B5type)
ANFREELE: 3.00 ( ATRLERE )
3.00 Nominal ratic:3.00(can omitted)
Output shaft diameter: ¢ 11(Standard shaft diameter omitted)
ZEFARKS: BS(WPCRIIBHNZESR)
B8 Code of installation fom:B8(See the installation form of PC serial reducer )
EEETARS: 3 (MBNELElTH)
3 Location of suitchbox:3(see location of motor suitchbox)

-50~-

PCAR IS EC IR EM

PC SERIAL GEAR REDUCER

9I‘EZRT.|' Appearance size

me #i 45 ¥ Output shaft i 35 2 Output flange Fume
Type i Flange | L1 | L2(R#ESF)
A | B C |D@s6)| b t E [FH8)| G [ H | I [J | K M o
1.5 18 21 11 4 12.5 23
70 | 105|105 |114| 40 | 85 | 4-M6x 10 45 | 202 (63B
PC063 5 55 a6 | &5 | E e 50 71B14 (63B58! )
PCO71 3 i i 14 2 L = 80 |[120 (120 (135 | 50 | 100 | 4-M6x10 | 80B14 220 (71B5® )
3 | a2 | 37 | 19| 6 | 215 40 TR =
3 32 40 19 6 21.5 | 40
PC080 4 40 50 %24 8 27 50 110 160 200 | 63 | 130 | 4-M8x 11 100B14 | 72.5| 255 (80B53# )
4 50 60 | 28| 8 31 60
3 32 40 | %19 | 6 21.5 | 40
265 ( 90B5%! )
PC090 3 40 50 24 8 T 50 110 160 200 | 63 | 130 | 4-M8x 11 100B14 | 72.5 290 { 90LB5H )
3 50 60 | x28 | 8 31 60

H: RPASIBHME “D(js6)” ®EH” x “AFRENE, 7TH” x “HiRAE, AATRETELER.

Note:The output shaft’s diameter "D(js6)” without “3%"shown in the table is standard specification ,or the

diameter without "“3%"is non-standard one; the user may select them based on the need

EEHLE&EH F='.| Location of suitchbox

EE: NEHHER, TRHZERGHEEZRTE.

Notice:For specific requirement, indicate the position of suitchbox based on the diagram in the order

_51_



PCE&I AL RIE

Eﬁfiﬂ: Installation

PC SERIAL GEAR REDUCER

'——M——J

B3 B6
1
V5 V6 D
' e
<p o

EE: 1. METEHEE, MUBIARAERERR
2, TEMREAFAMBSRANHEABER

Note:1, If no specific description,B3 is regarded as standard installation form.

2. If noinstallation form described. please contact our technical department.

PC+NMRVASEFZENEHEI N combined of PC+NMRV reducer

,\ o z g
g Y
A= wWAFL (D) MAE= (P Hdidm (D) Wididh (D%) &= P
Type Input hole Input flange Qutput shaft Output shaft Qutput flange
PC63 11 63B5(140) 11 14 71B14(105)
RE7 14 71B5(160) 14 19 80B14(120)
PC80 19 80B5(200) 19 24 100B14(160)
PC80 24 90B5(200) 24 28 100B14(160)

AR DRRIRIRER T, ITHMIEER.

Note: D* is a non—standard size, please indicate when ordering.

-52 -

P CE &5 REN]

PC SERIAL GEAR REDUCER

PC+NMRV HHLES-P1/D1 motor type P/D (P/D) # it Remarks
NMRV40 RATREE A E 2718148
PCO063+ NMRV50 63B5-140/d11 ®105/D11 (@105/®14) | Worm reducer is provided with
NMRV63 71B14 type input flange
NMRV50
T R AL\ FE2280B 148
PCOT14+ NMRV63 71B5-160/d14 ©120/P14 (P120/D19) | Worm reducer is provided with
NMRV75 80B14 type input flange
NMRVI0
NMRV75
b
PC080+ NMBEYI0 80B5-D200/d19 ©160/D19 (D160/D24) &?ﬁﬁ,ﬁf}f‘;’;ﬁqj’;ﬁ%
NMRV110 (®160/®28) 71B5 type input flange
NMRV130
NMRV1i10 (@160/019) YA B BN £ 271858
PCO90+ - Worm reducer is provided with
T 90B5-P200/D24 ®160/Dd24 (P160/D28 ) 1A tyne InEit HAnge

i ITREMRTAERARE, ARATUREEERA,
Note:The dimension with bracket is non-standard spectification:the user may select it based on the need.

SRAT R
HEE
Type

5% i 1
LR
m

PC063

PCO71

PC080

PC090

i=3

©105/P11| ©105/P14 |P120/P14 | P120/P19

i=3 i=3 j=3

160/d24 | P160/P24 |P160/P28

=3 =3

©160/019 | D160/D24 | D160/D28
i=2.42

i=2.42 i=2.42

NMRV40

NMRV50

NMRVE3

NMRV75

NMRV90

NMRV110

NMRV130

_53_



YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

YSZRI =18 RS EIH

YS&II=H7RZ BRI

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

g‘i‘%*ﬁiﬂ Signs and markl exaple

RIRS =HRTEIIY

Series code YS Three phase asynchronous motor

56 56 #E Frame size 56
63 63 M B Frame size 63
71 71 H & Frame size 71
NES 80 80 #12& Frame size 80
Frame size 90 90 #1 2= Frame size 90
100 100 41 2 Frame size 100
B3 B5 B14 i o i 112 # 2 Frame size 112
132 132 L 2E Frame size 132
AL 1 1HKEHRIE No.1 length spec
) 2 2HC EHALM  No.2lengthspec
12 EBE structure diagram it 3 IHCE MM No.3lengthspec
2 2% 2 poles
Eﬁ,fizﬁ 4 41% 4 poles
6 6 1% 6 poles

Fz: ll:ﬁ':l *f'.I_TEE Product notes

- 54 -

B~ RIERUTANGEE: RARSHIESHEKEAESBNRE-RELR.
f#5]: YS7124B3
YS90L-2B5

The marking principle for Motor products is following:
Series Code + Frame Size + Spec. of Iron Core + Poles + Mounting Position.

Forexample: YS 7124 B3
YS90L-2B5

_55_



YSRII=ERHEE

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

YSE*E E’rﬁ EE.EJHLT&EE%?SI Performance parameter

RE The iz MERR | WERE | MERE |EEEE | BARE (EREER  BE
TYPE POWER (KW) N, (R/MIN) Iu (A) COSo My (N.M) M. / My M/ Mu Is/1n n (%)
2P n,=3000r/min
YS5612 0.09 2800 0.32 0.68 0.31 23 2.3 6 62
YS5622 0.12 2800 0.38 0.71 0.41 23 23 6 67
YS6312 0.18 2800 0.53 0.75 0.61 P35 2.3 6 69
YS6322 0.25 2800 0.68 0.78 0.85 2.3 23 6 72
YS7112 0.37 2800 0.96 0.8 1.26 23 2.3 6 73.5
YS7122 0.55 2800 1.35 0.82 1.88 2.3 2.3 6 75.5
YS8012 0.75 2800 1.73 0.85 2.56 on 2.3 6 77.4
YS8022 1 2800 2.47 0.85 3.75 29 2.3 7 79.6
YS90S-2 15 2840 3.3 0.85 5.04 2.2 23 7 81.3
YS90L-2 22 2840 47 0.86 7.40 22 5 7 83.2
YS100L-2 3 2860 6.2 0.87 10.0 oy 2.3 7.5 84.6
YS112M-2 4 2860 8.0 0.88 13.4 52 2.3 7.5 85.8
YS1325-2 55 2900 10.9 0.88 18.1 95 2.3 7.5 87
YS132M-2 75 2900 14.7 0.88 247 22 2.3 75 88.1
4P n,=1500r/min
YS5614 0.06 1380 0.28 0.58 0.42 2.4 2.4 6 56
YS5624 0.09 1380 0.39 0.61 0.62 2.4 2.4 6 58
YS6314 0.12 1380 0.48 0.63 0.83 24 2.4 6 60
YS6324 0.18 1380 0.65 0.66 1.25 2.4 2.4 6 64
YS7114 0.25 1400 0.83 0.68 1.71 2.4 2.4 6 67
YS7124 0.37 1400 1.12 0.72 2.52 2.4 2.4 6 69.5
YS8014 0.55 1400 1.56 0.73 3.75 2.4 2.4 6 735
YS8024 0.75 1400 1.91 0.75 5.12 2.3 2.4 6 79.6
YS90S-4 14 1420 2.6 0.78 7.40 23 2.4 6.5 81.4
YS90L-4 15 1420 3.5 0.79 10.1 2.3 2.4 6.5 82.8
YS100L1-4 2.2 1420 4.9 0.81 14.8 2.3 2.3 6.5 84.3
YS100L2-4 3 1420 6.5 0.82 20.2 23 2.3 7 85.5
YS112M-4 4 1440 8.6 0.82 26.5 2.3 2.3 7 86.6
YS1325-4 55 1450 11.5 0.83 36.2 2.3 2.3 7 87.7
YS132M-4 75 1450 15.3 0.84 49.4 2.3 2.3 7 88.7
6P n,=1000r/min
YS7116 0.18 910 0.76 0.61 1.89 2.0 2.0 5.5 59
YS7126 0.25 910 0.97 0.62 2.62 2.0 2.0 55 63
YS8016 0.37 910 1.33 0.62 3.88 2.0 2.0 5.5 68
YS8026 0.55 910 1.84 0.64 5.77 2.0 2.1 5.5 71
YS90S-6 0.75 920 22 0.68 7.79 2.0 a1 5.5 75.9
YS90L-6 14 920 3.1 0.7 11.4 2.0 2.1 6 78.1
YS100L-6 15 940 3.8 0.75 15.2 2.0 2 6 79.8
YS112M-6 22 940 5.4 0.76 224 2.0 54 6.5 81.8
YS1325-6 3 960 TP 0.76 29.8 5 2.1 6.5 83.3
YS132M1-6 4 960 9.5 0.76 39.8 2.1 2.1 6.5 84.6
YS132M2-6 5.5 960 12.6 0.77 54.7 2.1 2.1 6.5 86

- 56 -

YSRII=ARRZLHELI

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

DFS : . -
%mi-'ﬁﬁlﬁzzﬂ:‘:t Electric structure mounting position
F&GB997 /IEC60034-7#r#E Accordance with GB997and IEC60034-7standard

B3 V1
IM 1001 IM 3011
— e B5 V1/V5
o Z IM 3001 IM 2011
i N =C=2=
B3/B5 v3
IM 2001 IM 3031
B6 V3/V6
IM 1051 IM 2031
B7 V5
IM 1061 IM 1011
B8 V6
IM 1071 IM 1031
B14 V18
IM 3601 IM 3611
.'.':-;.=_=_. B3/14 V19
i IM 2101 IM 3631

_57_



YSRII=ERHEE

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

YS(H)56 R YS(H)56 Dimensions

B YS(H)56-B3

YSRII=ARRZLHELI

YS(H)63 R YS(H)63 Dimensions

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

B YS(H)63 -B3

125

o
1 —tH——-—-H
=
H 1 1 I,
111 . T
23| 40 80
215

x‘/u/

8.5

M4x12 %

M YS(H)63 -B5

11

Gax”

et = E N S
| - b 3 =
. ! | | = k"
H 1 ] B —-
[ il d i) 7.2
20| 35 71
195
M YS(H)56 -B5
B
Qc% "J H— e 3 :‘(
T2
20
197
W YS(H)56 -B14
| |
=
~ 3R
T X
72

S

dE O SIIRYATEIR, IERASIER. Note: The size marked with "*" is optional and not included in the standard product.

- 58 -

=3P L&
Max12*
—
8.5
W YS(H)63 -B14
wn Ry
| 3
Max12%
—ar
8.5

IR E Y SPHRTATE®E, ERASIRYT. Note: The size marked with **" is optional and not included in the standard product.

_59_



YSRII=ERHEE

YS(H)71 R vYS(H)71 Dimensions

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

YSRII=ARRZLHELI

YS(H)80 R vYsS(H)80 Dimensions

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

B YS(H)71-B3

B YS(H)80-B3

o
19 — e — R y
i - ta W
1
)
H @
: M: M6x16 *
1 1 ] T~ — i
T I i 1111} 15.5
40| 51 100
280
H YS(H)80 -B5
sla L8 3
o | — — A\’
M6x16 *
—]
! 15.5
]
|40 |
280
W YS(H)80 -B14
@
3 i &
— i (el
TJOTOrT
gl | — N
RIS = o N
= M6x16 *
® —
15.5
40 |
280

e~ H———F g b
— . HEX
. Y
% M5x12 *
1 | I ——
— 1T ! T 1
30|45 90
112
=5 136
W YS(H)71-BS
3 = 5 \\
= s 3
M5x12
iz
. 1
I
30
245
W YS(H)71-B14
|
D
B : @
e 7=
g
Y e & L] S
S|=|TE = o 5 -Ri
B M5x12 *
—e
1"
30
245
dE O SIIRYATEIR, IERASIER. Note: The size marked with "*" is optional and not included in the standard product.

-B60 -

IR E Y SPHRTATE®E, ERASIRYT. Note: The size marked with **" is optional and not included in the standard product.

_61_



YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

YSRII=ERHEE YSRII=ARRZLHELI

YS(H)90S R vYsS(H)20S Dimensions YS(H)90L R vYS(H)90L Dimensions

B YS(H)90S -B3 B YS(H)90L -B3
l |
[
u [¥a]
o od
24 N ) 24 — i “a
& 8 3 - — = Q . e
Y Y
M8x19 % ! = M8x19 * ! =
— @ — >
20 20
50 50| 56
140 140
312 T 336 180
M YS(H)90S -B5 H YS(H)90L -B5
S|] L X CHEN SR L 3
o — - k" o |- — e
M8x19% M8x19*
e —
I 20 I 20
| |
50 50
312 336
B YS(H)90S -B14 W YS(H)90L -B14
[\
P P
o = = o e e =
9T eSO
Ean - 3 - " Ean - H - )
Rl 8 —F e IR 3/ Y=l —tE———F £ :
= bl M8x19* = & M8x19 ¥
:%:It 0 :%:H: ™0
so| *E . so| '
312 336
dE O SIIRYATEIR, IERASIER. Note: The size marked with "*" is optional and not included in the standard product. e W Y SIIRYAEER, InERASIER Y, Note: The size marked with "*" is optional and not included in the standard product.

-62 -




YSRII=ERHEE

YS(H)100L R YS(H)100L Dimensions

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

B YS(H)100L-B3

un
=
3 “»
4 o T4 ) o
\"
M10x22 * . 3
— e
24
12
160
390 160
H YS(H)100L -B5
a8 3 s TS
o | — o -
— -
- 24
I
60
390
M YS(H)100L -B14
[\
35
===
OO
= ] ' = N
82| —E———E I JES
i f M10x22*
— -
:M:It >4
60 i '
390
FE T SHIRTHTER, IRERTSLRT. Note: The size marked with "*" is optional and not included in the standard product.

- 64 -

YSRII=ARRZLHELI

YS(H)112M R YS(H)112M Dimensions

YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

B YS(H)112M -B3

153

[e0]
2 1y _@_
Y
M10x22 * ! 2
2
et 190
400 =30
B YS(H)112M -B5
e B L 2 8 \"*
o | — ] Y
! 2
T
60
400
B YS(H)112M -B14
3 3 N
& M10x22 %
2

TE:

1 SHRY ARSI, iInERASIULR Y. Note: The size marked with "*" is optional and not included in the standard product.

_65_



- 66 -

=R —iAEEE
YSZRSI=ERLEBEM YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR YSZRII=AERLEBR YS SERIES THREE-PHASE ASYNCHRONOUS MOTOR

YS(H)132S R YS(H)132S Dimensions YS(H)132M R~ YS(H)132M Dimensions
B YS(H)132S -B3 B YS(H)132M -B3
[ I ] [ I T
— el —
] &
[(e] [Xe]
A . A @&
Y ® Y
M12x28 * , o M12x28 * ; &
— e o | — ] b
33 33
12 216 12 T 216
463 260 500 260
W YS(H)132S -B5 M YS(H)132M -B5
. BT . BT
| |
80 80
463 500
B YS(H)132S -B14 B YS(H)132M -B14
h s
o — e o
2 OO T =
N ) m . el S
M10x22% = M10x22 *
¢ BEE —orHo—i ° BEE
80, '
460 500
dE O SIIRYATEIR, IERASIER. Note: The size marked with "*" is optional and not included in the standard product. e W Y SIIRYAEER, InERASIER Y, Note: The size marked with "*" is optional and not included in the standard product.

_67_



FC SERIES WORM GEAR SPEED REDUCER

FCEFItm4CtattimiiEm

% E

Single Speed Reducer i#Lt Ratio: 1/10-1/60

FCA FCDA FCKA FCDKA FCO FCDO

FCDS FCX

FCDZ FCDKZ

T 5% i 12 11

Double Speed Reducer iELL Ratio: 1/100-1/3600

FCEA FCEDKA FCES FCEDS

FCEDKS FCWE FCWEKO FCWEDKO

FCWEK FCWEDK FCEO FCEDO FCEDX

- 68 -

FC & n4etmtTiRiiE

73 BEBYIRLE

FC SERIES WORM GEAR SPEED REDUCER

Universal Speed Reducer

itk Ratio: 1/10-1/60

F

Ccw

FCWKA

B

FCWT

FCWDT

|

Al

S B wiE

Multistage Speed Reducer

Hfth™
Other Products

i#kk1/1000-1/216000

#ELb1/10-1/60

FCEEDO
s

FCEEA

BN ERREN

_69_



SWLRFMRICLATFHE SWL SERIES WORM GEAR SCREW JACK DKM ZFUFHs N A S RbE DKM SERIES HELICAL-HYPOID GEAR UNITS

FER

ISR / Products features

DKMZAFIFHE - X BT miE 2 A B B £ R AR —RSE B =&,
AT ERIMEHEA , RELT—EEESS

Glbs die) E=R

1. RS Esh , Stk ;

2. SHEREK | {EREER |, SRR

3. iRiEaSHsE  BERE , 75,

4 ENTR , BE/) , EAERSEPKHBESETIE

5. SEMmA , AR

6. BRI AREE , KAz, FR5E

7. DKMZAFIREN 23R T SNMRVAF IR IR RIEN o2 7S ( DKM28SNMRVOSOBHRIAR ) ;
8. BLAESE , ISR ES , MESTMESIRGITR,

DKM series helical-hypoid gear units is a new-generation of product developed by our company,with a compromise of
advanced technology both at home and abroad,its main features are as follows:

1.Driven by hypois gear,has big ratios.

2.Large in output torque,high efficiency,energy saving and environmental protection.
ARG E=E BLE=E BoBEfFEBY PExE=R 3.Made of high-quglity aluminum alloy,light in weight and nonrusting.

4.Smooth in running and low in noise,can work long time in dreadful conditions.
5.Good-looking in appearance,durable in service life and small in volume.
6.Suitable for all round installation,wide application and easy of use.

7.The mounting dimension of DKM series are compatible with NMRV series worm gear unit(A part of NMRV050 dimensions
are different from DKMZ28).

8.Modulaw and multistructure can meet the demands of various conditions.

o
e

FEHE / Main materials

1.5b5% : 8B5S (HLEE : 28-58)
2. 4555 : 20CrMnTi , iBREEK , LSEEES6-62HRC |, FBEGFHERERE0.3-0.5mm,

1. Housing:die-cast aluminum alloy (frame size:28 to 58);
; . o i 2. Gear wheel:20CrMnTi,carbonize & quencher heat treatment make the hardness of gear's surface up to 56-62
FriEEeE FrEERS A FEHZ=ERVE HRC,retain carburization layer's thickness 0.3 and 0.5mm after precise grinding.

-70- 71



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36

